
Paper-2: 15th December, 2024 �  7

CTET Solved Paper Paper-2 
15th December 2024

Time: 2 hours 30 mins.� Total Marks: 150

GENERAL INSTRUCTIONS
1.	 Read all the instructions on the question paper carefully before you start attempting the questions.
2.	 1 mark is awarded to correct answer.
3.	 Ensure that the question paper code mentioned on the question paper matches the code on your 

admit card.Make sure you use the correct answer sheet for your paper. The answer sheet will have 
fields for your personal information, roll number and other details.

4.	 Only one response should be marked for each question. If you mark multiple responses for a single 
question, it might be considered as incorrect.

Child Development and Pedagogy

Directions: Answer the following questions (Q. No. 1 to 30)
by selecting the correct/most appropriate option.
1.	 Jean Piaget perceives ................. to be ................. Lev-

Vygotsky believes ................. to be ................. . 
(1)	 Private speech, a sign of cognitive immaturity, 

egocentric speech, effective in self-regulation 
(2)	 Private speech, effective in self-regulation; 

egocentric speech, a sign of cognitive immaturity 
(3)	 Egocentric speech, a sign of cognitive immaturity; 

private speech, effective in self-regulation
(4)	 Egocentric speech, effective in self-regulation; 

private speech, a sign of cognitive immaturity 
2.	 In an inclusive classroom, the teacher:

(1)	 modifies the curriculum and pedagogical 
strategies to suit varied needs of children.

(2)	 tries to encourage children to do better by 
promoting competitive spirit.

(3)	 identifies 'deficits' in children and correctly labels 
them.

(4)	 segregate children based on differing academic 
capabilities.

3.	 Assertion (A): Lokesh has trouble with classifying 
one concept (Delhi) as a subset of another (India). 

	 Reason (R): Understanding how emotions affect 
memory and learning can lead to self-regulated 
learning.

	 Choose the correct option:
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is  the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
4.	 Which of the following is an example of a question 

that promotes analytical thinking?
(1)	 Which factors contributed to the outbreak of 

World War II?
(2)	 Who was the leader of Germany during World 

War II?
(3)	 In which year did World War II end?

(4)	 Which countries were directly involved in the 
World War II?

5.	 Which of the following is an example of a 
performance goal orientation?
(1)	 A student studies hard to learn as much as 

possible from the teacher.
(2)	 A student studies hard to further her own 

growth.
(3)	 A student studies hard to achieve a deep 

understanding of a topic.
(4)	 A student studies hard to get a good grade and 

be better than others. 
6.	 Assertion (A): In an inclusive classroom, all 

curriculum adaptations should be directed to lower 
the educational standards for 'Special children'. 

	 Reason (R): 'Special children' do not have any 
potential for learning in mainstream classrooms.

	 Choose the correct option:
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is  the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
7.	 Howard Gardner's theory of multiple intelligence 

proposes that:
(1)	 Intelligence can be measured accurately and 

predicated precisely. 
(2)	 Intelligence can successfully predict academic 

success.
(3)	 Intelligence changes over time.
(4)	 Intelligence is primarily inherited.

8.	 While proposing the relationship between language 
and thinking process, Lev Vygotsky conceptualised 
language as a/an:
(1)	 hindrance to the development of cognitive 

abilities.
(2)	 independent domain which is not related to 

cognition.
(3)	 cultural tool which facilitates cognition in 

multiple ways.
(4)	 form of egocentric speech used to only fulfil 

basic needs.
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9.	 Changes in emotion, self-perception and 

interpersonal relationships with families, peers and 
friends are studied under ..................... domain of 
development.
(1)	 linguistic	 (2)	 psycho-social
(3)	 physical	 (4)	 cognitive

10.	 Assertion (A): Creating an environment of fear and 
stress keeps students 'on their' toes and facilitates 
meaningful learning. 

	 Reason (R): Learning is governed only by extrinsic 
factors. 

	 Choose the correct option.
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
11.	 A teacher wants to enable meaningful and analytical 

learning in her class by providing opportunities for 
students to connect their prior knowledge to new 
concepts. Which of the following teaching strategies 
would be most effective?
(1)	 Ask students to share their own experiences 

related to the new material and then connect 
them to the topic.	

(2)	 Providing students with a step-by-step guide 
on how to complete a task related to the new 
material.

(3)	 Lecturing on new material and providing 
students with a list of key terms to memorise.	

(4)	 Assign students to read the textbook chapter and 
answer questions at the end.

12.	 Ten-year old Kakuli is struggling with a difficult 
math problem. What can her teacher do to enhance 
her problem-solving skills?
(1)	 Encourage her to keep trying and offer 

scaffolding when needed.
(2)	 Give severe punishment so that it is not repeated 

in future.
(3)	 Give her the solution to the problem.
(4)	 Tell her to skip the problem and move on to the 

next one.
13.	 Fiza analyses that she has more problems in learning 

topic X than in learning topic Z because she is 
interested in topic Z and is paying focused attention 
to it. Which of the following constructs describe 
Fiza's abilities to analyse her thinking? 
(1)	 Cognition	 (2)	 Cognitive conflict
(3)	 Metacognition	 (4)	 Memory

14.	 Universal design for learning does NOT involve:
(1)	 Tapping into all learner's interests and offering 

challenges accordingly.
(2)	 Practicing forms of labelling and categorisation 

of learners.
(3)	 Giving all learners various ways of acquiring 

information and knowledge.
(4)	 Providing all learners alternatives for 

demonstrating what the learners know.
15.	 While there exists a possibility of intra-group 

individual differences, yet most students with 
autism:
(1)	 Express strict adherence to routine or steps.	
(2)	 Perform superior skills of imaginative play.

(3)	 Acquire advanced socio-emotional reciprocity.
(4)	 Demonstrate advanced communication skills.

16.	 In which of the following methods teacher and 
student interchange their roles?
(1)	 Expository teaching 
(2)	 Reciprocal teaching
(3)	 Conditioned learning
(4)	 Receptive learning

17.	 Which of the following statements aptly describes 
the purpose of a diagnostic assessment?
(1)	 To provide feedback to the teacher about their 

teaching methods.
(2)	 To identify the areas where students may need 

additional support or instruction.
(3)	 To give students the opportunity to critically 

assess the work of their peers.
(4)	 To identify the attitude patterns of students and 

design a career guidance programme as per their 
needs.

18.	 Assertion (A): Twelve year Amana gets scared 
every time the teacher asks her to answer or solve 
the maths problem on the blackboard because she 
fears that the teacher will scold her and she will be 
embarrassed. 

	 Reason (R): When students feel unsafe and anxious 
their learning is adversely affected. 

	 Choose the correct option.
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
19.	 Which of these statements would advocates of 

progressive education agree with?
(1)	 Children are born in a social, cultural and 

economic context and this background influences 
their development.

(2)	 Childhood is a distinct life stage that holds 
importance because of what they would become 
as adults rather than 'what they are as children'.

(3)	 Children are naturally 'good' and society 
corrupts them.

(4)	 Children are naturally 'uncivilised' and 
socialisation is necessary to make them moral 
human beings.

20.	 You are a teacher who wants to encourage your 
students to think critically and creatively. Which of 
the following strategies is most likely to foster this 
type of thinking? 
(1)	 Giving students multiple-choice tests to assess 

their knowledge. 
(2)	 Lecturing on the topic and providing students 

with detailed notes.
(3)	 Assigning a project in which students must 

memorise and present information on a topic.
(4)	 Providing students with open-ended question to 

come up with their own solutions.
21. 	 While engaging students who are visually 

challenged. Teachers should use .................. which 
.................. . 
(1)	 Frequency modulated transmission devices; are 

tactile systems.
(2)	 Frequency modulated transmission devices; are 

auditory systems.
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(3)	 Braille; is a tactile system.	
(4)	 Braille; is an auditory system.

22.	 Assertion (A): Each child finds opportunities to 
play, experiment and discover their world.   

	 Reason (R): Childhood is a universal construct. 
	 Choose the correct option.

(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A).
23.	 Following Lev Vygotsky's ideas, a teacher should:

(1)	 Encourage students to complete with each 
other.	

(2)	 Practise reciprocal teaching with her students.
(3)	 Discourage the use of cultural tools by students.
(4)	 Disseminate the knowledge to be memorised by 

the students.
24.	 Which of the following are effective strategies to 

teach new concepts?
(i)	 Presenting examples
(ii)	Presenting non-examples
(iii)Promoting thinking about relationships amongst 

concepts.
(iv)	Giving a definition and encouraging students to 

rote memorise it.
(1)	 (i), (ii), (iii)	 (2)	 (iii), (iv), (i)
(3)	 (i), (ii)	 (4)	 (i), (iii)

25.	 Lev-Vygotsky views cognitive development as:
(1)	 a unified process
(2)	 effective adoption to the environment process
(3)	 a collaborative process
(4)	 an individual activity

26.	 Which of the following statements about Lawrence 
Kohlberg's theory is correct?
(1)	 It presents conflicting situations to children.
(2)	 It takes into account the effects of culture and 

gender on moral reasoning.
(3)	 It does not specify the exact stages for progression 

of moral development in children.  
(4)	 It is based on the study done through experimental 

methods.
27.	 Which of the following is an example of assessment 

for a student's learning?
(1)	 A standardised test used to compare students 

across the country.
(2)	 A rubric given to students at the beginning of 

a project, outlining what they need to do to 
achieve a certain grade. 

(3) A final exam that covers all the material learned 
throughout the term.

(4) A quiz and brainstorming at the beginning of 
class check for prior knowledge. 

28.	 Assertion (A): As compared to boys, girls have an 
innate tendency to be affected more by social and 
cultural factors.

	 Reason (R): Girls are genetically more sensitive and 
emotionally weaker than boys, making it more likely 
for them to conform to societal expectations. 

	 Choose the correct option.
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct 
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct 
explanation of (A).

29.	 As per Jean Piaget's theory of cognitive development:
(1)	 Memorisation should be prioritised over learning 

through experience.
(2)	 Previous knowledge doesn't play any role in the 

process of learning.
(3)	 Biological factors such as maturation don't play 

any role in cognitive development. 
(4) Learning experiences depend on children's 

current level of cognitive functioning. 
30.	 The behaviours, interests, attitudes, skills and 

personality traits that a culture considers appropriate 
for specific gender are referred to as .................. and 
are .................. .
(1)	 gender identity; culturally defined
(2)	 gender identity; genetically determined
(3)	 gender roles; culturally defined.
(4)	 gender roles, genetically determined

Mathematics and Science

Directions: Answer the following questions by selecting the 
correct/most appropriate options.
31.	 In a pentagon ABCDE, ÐA = (2x + 9°), ÐB = (2x + 1°),   

ÐC = 2x – 1, ÐD = (2x + 5°) and ÐE = (2x – 4°). 
Then, the value of (2x + 10°) is:
(1)	 118°	 (2)	 124°	 (3)	 114°	 (4) 116°

32.	 The two corresponding angles formed by the 
intersection of two parallel lines by a transversal are 
(3x – 20°) and (5x – 60°). Then, the value of (4x + 30°) 
is:
(1)	 130°	 (2)	 150°	 (3)	 90°	 (4) 110°

33.	 Which of the following is used to record students' 
problem solving ability, measurement ability and 
experimentation ability?
(1)	 Anecdotal Record	 (2)	 Teacher Diary
(3)	 Cumulative Record	 (4)	 Report Card 

34.	 A nine-digit number 565x9274y is divisible by 
number 88. Then, the value of (2x + 3y) is:
(1)	 24	 (2)	 22	 (3)	 26	 (4) 25

35.	 If x = k, is the solution of the equation:

	�

x −
−

4
7

1
 
= 

5
3
�

�
x

x
 
then what is the value of 

11 18
11 12

k
k
�
�

?

(1)	
5
8 	

(2)	
4
9 	

(3)	
1
2 	

(4) 
3
4

36.	 Which one of the following is the most appropriate 
feature of mathematics textbooks at elementary level?
(1)	 Concepts should be presented from complex to 

simple	
(2)	 Concepts should be presented from concrete to 

abstract	
(3)	 The language of the book must be highly precise 

and technical 	
(4) Books must contain a lot of similar questions to 

practice
37.	 Many occupations such as accountancy, banking, 

shop-keeping, tailoring, etc. requires mathematics 
directly or indirectly. This is an explanation of 
................ value of Mathematics.
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(1)	 utilitarian	 (2)	 professional
(3)	 disciplinary	 (4)	 cultural

38.	 O is a point on the line AB. Rays OC and OD are 
drawn on the same side of AB such that OC  OD,  
ÐAOC = x and ÐBOD = 3x. Then ÐBOD is equal to:

(1)	 60°	 (2)	 67
1
2
°

	
(3)	 22

1
2
°

	
(4) 45°

39.	 The value of 31096 ÷ (2704 ÷ 2) + 0.6738 + 0.63 + 
0.059 – 0.79 is equal to:
(1)	 24.6728	 (2)	 24.5728
(3)	 23.6728	 (4)	 23.5728

40.	 Which of the following rational number lie between 
− −7
10

1
4

and ?

(1)	
5
8

2
3

3
5−
−

, ,
	

(2)	
5
8

2
3

3
5−

− −
, ,

(3)	
− −3
5

0
1

5
, ,

	
(4)

	

− − −2
3

3
5

3
4

, ,

41.	 If x is the smallest number which is to be subtracted 
from 2605 to make it a perfect square, then the value 
of (4x + 7) is:
(1)	 27	 (2)	 31	 (3)	 11	 (4) 23

42.	 The cost price of an article is ` 750. It is sold for  
` 608 by giving 24% discount on its marked price. 
If it had been sold on its marked price, then what 
would have been the profit percentage?

(1)	 5
1
3

%
	

(2)	 6
2
3

%
	

(3)	 5%	 (4) 6%

43.	 PQRS is a parallelogram in which PQ = (4x + 1) cm, 
QR = 26 cm, RS = 25 cm, and PS = (3y – 1) cm, 
Then, the value of (3x + 2) (in cm) is:
(1)	 38	 (2)	 39	 (3)	 35	 (4) 36

44.	 A solid cube of side 12 cm is cut into small solid cubes 
of side 4 cm each. What will be the relation between 
the total surface area of the original cube and the new 
total surface area of the small cubes so formed?

(1)
	
New total surface area will be 

1
3  

of the original 

total surface area.
(2)	 New total surface area will be thrice the original 

total surface area.

(3)	 New total surface area will be
 

1
2  

of the original 

total surface area. 
(4)	 New total surface area will be twice the original 

total surface area.
45.	 The distance between the parallel sides AB and 

CD of a trapezium ABCD is 12 cm. If AB<CD,  
CD = 24 cm and AD = BC = 13 cm, then area of the 
trapezium (in cm2) is:
(1)	 247	 (2)	 228	 (3)	 123.5	 (4) 114

46.	 For teaching addition of integers at the upper 
primary stage which of the following is least useful? 
(1)	 use of number line	 (2)	 use of chart paper
(3)	 use of stairs 	 (4)	 use of lift

47.	 Following data shows the number of wickets taken 
by a player in last 11 matches played by him/her:
1, 0, 2, 4, 0, 3, 1, 1, 2, 4, 1

	� What is the difference between the mean and mode 
of the above data?

(1)	
10
9 	

(2)	
8
9 	

(3)	
7
11 	

(4) 
8
11

48.	 Nitu is always confused in identifying the transformations. 
Her mathematics teacher helped her by giving one 
simple word for each transformation namely: Reflection, 
Rotation, Translation and Enlargement.

	 Which of the following represents the correct 
sequence of meaning of each transformation as 
given above? 
(1)	 Slide, Flip, Turn and Bigger Figure	
(2)	 Flip, Slide, Turn and Bigger Figure
(3)	 Turn, Slide, Flip and Bigger Figure	
(4)	 Flip, Turn, Slide and Bigger Figure

49.	 On the basis of the information given in the 
statement, which of the suggested course of action 
logically follows?

	 Statement: Anamika does conceptual error while 
solving problems on mensuration.

	 Course of Action: 
(I)	 Teacher gives a lot of hands-on and visual 

practice to Anamika.
(II)	Teacher provides the scope of discussion while 

giving open-ended questions.
	 Choose the correct option:

(1)	 Neither course of action (I) nor course of action 
(II)

(2)	 Both course of action (I) and (II)
(3)	 Only course of action (I)	
(4)	 Only course of action (II)

50.	 Let A = 3x2 – 8x + 11, B = –2x2 + 12x, C = – 4x2 + 7  
and D = x2 – x – 11.

	 If (A + B + C) – D = px2 + qx + r, then the value of 
(p + q + r) is:
(1)	 30	 (2)	 31	 (3)	 27	 (4) 28

51.	 A sum of ` 8000 becomes ` 9500 at 7.5% p.a. in x 
years at simple interest. What will be the amount 
of the sum in same time at 20% p.a, if interest is 
compounded yearly? 
(1)	 ` 12672	 (2)	 ` 13824
(3)	 ` 11616	 (4)	 ` 12144

52.	 One of the factors of 20pq2 + 4pq + 45pr2 – 60pqr –6rp 
is:
(1)	 10p – 15x + 2	 (2)	 15p – 10r + 2
(3)	 2r – 3q	 (4)	 2q – 3r

53.	 Which of the following statement is correct about 
assessment?
(1)	 'Assessment for learning' is a process with no 

scope of giving feedback. 
(2)	 Formative Assessment is used after the course 

completion to assign the grades. 
(3)	 Assessment as learning generates opportunities 

for self-assessment and peer assessment. 
(4)	 Summative Assessment helps to know to what 

extent the instructional objectives have been 
achieved while teaching a concept.

54.	 Which on of the following is a teacher-centred 
method of teaching mathematics?
(1)	 Heuristic Method	
(2)	 Group Discussion Method
(3)	 Problem Solving Method	
(4)	 Lecture Method
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55.	 Which of the following number is written in the 

standard form?
(1)	 0.6 ×1015	 (2)	 83.7 × 10–9

(3)	 45 × 103	 (4)	 8.5 × 10–12

56.	 For which of the following measurements, the 
construction of triangle ABC can be done?
(1)	 ÐACB = 120° ÐABC = 25°, AC = BC = 4 cm
(2)	 AB = 5 cm, BC = 6 cm, ÐABC = 130°, ÐBAC = 25°
(3)	 AB = 3 cm, BC = 4cm, AC = 7 cm
(4)	 AB = 8 cm, BC = 4 cm, ÐBCA = 90°, ÐABC = 60°

57.	 Meenu wrote some numbers on the blackboard and 
arranged them in ascending order as 2 < 7 < 9 < 12. 

She then multiplied each number by ��
�
�

�
�
�

1
2

	 Identify the correct statement regarding the above 
situation.
(1)	 Ascending order will now be changed to 

descending order.
(2)	 Number of terms in the ascending order will change.
(3)	 Ascending order of numbers will still remain the 

same.
(4)	 Mean of the numbers will remain the same.

58.	 Cards bearing numbers 12, 13, 14, ..., 70, 71 (one 
number on one card) are kept in a box and then a 
card is drawn from the box without looking into it. 
What is the probability that the card drawn has the 
number which is not prime?

(1)	
3
4 	

(2)	
45
59 	

(3)
	 1

4 	
(4) 

15
59

59.	 The distance covered (in metres) by a wheel of 

radius 25 cm in 350 rounds is use  =p
22
7

�
�
�

�
�
�

(1)	 825	 (2)	 1100	 (3)	 275	 (4) 550
60.	 Which of the following represents the most 

important capabilities of learners to be assessed in 
mathematics?
(a)	 Ability to use abstractions to perceive relationships
(b)	 Ability to memorise all the formulae given in 

textbook
(c)	 Ability to apply mathematical concepts to solve 

problems related to daily life situations 	
(d)	Ability to score full marks in mathematics
Choose the correct option.
(1)	 (b), (c) and (d)	 (2)	 (b) and (d)
(3)	 (a) and (c)	 (4)	 (a) and (d)

Directions: Answer the following questions by selecting the 
correct/most appropriate options.
61.	 ......(A)...... hormone regulator carbohydrate, protein 

and fat metabolism in our body. It is secreted by ......
(B)...... gland and ......(C)...... in our diet impacts the 
functioning of this gland.

	 (A), (B), (C) respectively are:
(1)	 Thyroxine, thyroid, iodine	
(2)	 Growth pitutary, proteins
(3)	 Insulin, pancreas, sugar	
(4)	 Adrenaline, adrenal, salts

62.	 Which of the following statements is/are true 
regarding the function of bile juice in human 
digestive system?
(A)	It makes the partly digested food coming from 

stomach alkaline.	
(B)	It helps in digestion of fats.

(1)	 Both (A) and (B) are true	
(2)	 Both (A) and (B) are false
(3)	 (A) is true and (B) is false	
(4)	 (A) is false and (B) is true

63.	 The density of medium A is more than medium B 
but less than medium C. In which medium does the 
sound travels fastest? 
(1)	 C
(2)	 Can't be inferred from this information
(3)	 A
(4)	 B

64.	 Which of the following statements is correct?
	 S1: The normal temperature of the human body is 

37°C.
	 S2: Heat flows from a body at a higher temperature 

to a body at lower temperature.
(1)	 S1 is observation and S2 is inference
(2)	 S1 is inference and S2 is observation
(3)	 Both S1 and S2 are observation
(4)	 Both S1 and S2 are inferences

65.	 While ice melts at 0°C, its temperature:
(1)	 remains the same
(2)	 first, decreases and then remains same
(3)	 increases 
(4)	 decreases

66.	 Which of the following strategies would support 
inquiry oriented science teaching?
(1) Engaging students in floating and sinking 

activities	
(2)	 Explaining the difference between real and 

apparent weight
(3)	 Define and explain Archimede's principle	
(4)	 Demonstrating the loss in weight of an object 

when immersed in water
67.	 Complete the following table:

Atomic
number

Mass
number

No. of 
electrons

No. of 
protons

No. of 
neutrons

9 A B C 10

D 24 E 12 F
	 A, B, C, D, E, F respectively are:	

(1)	 9, 10, 9, 24, 12, 12	 (2)	 9, 9, 10, 24, 12, 12
(3)	 19, 10, 9, 12, 12, 12	 (4)	 19, 9, 9, 12, 12, 12

68.	 Which of the following statements are not true 
regarding compounds?
(A)	Compounds show the properties of constituent 

substances.
(B)	Only elements can react to form compounds.
(C)	The composition of each compound is always 

fixed.
(D)	Compounds can be separated by physical and 

chemical methods.
(1)	 (A), (B), (D)	 (2)	 (A), (C), (D)
(3)	 (A), (B), (C)	 (4)	 (B), (C), (D)

69.	 Assertion (A): Convex mirrors are used as rearview-
mirrors in vehicles.

	 Reason (R1): They form erect and enlarged image.
	 Reason (R2): They have wider field of view.

(1)	 (A) is true only (R2) is the correct explanation for (A).
(2)	 (A) is true but neither (R1) nor (R2) are correct 

explanations for (A).
(3)	 (A) is true and both (R1) and (R2) are correct 

explanations for (A).
(4)	 (A) is true and only (R1) is the correct explanation 

for (A).
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70.	 Assertion (A): Nichrome is used as a heating element 

in devices like electric toaster and electric geyser. 
	 Reason (R): Nichrome has high melting point and 

low resistivity. 
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
71.	 Children of all age groups have various ideas which 

may be different from science concepts. Which of 
the following statements are true regarding these 
ideas?
(A)	These ideas are usually stable
(B)	They are formed due to observable phenomenon
(C)	They tend to follow similar developmental 

pattern
(D)	They are easy to modify
(E)	They are often domain specific
(1)	 (A), (B), (C), (D) 	 (2)	 (A), (B), (C), (E)
(3)	 (A), (B), (C) 	 (4)	 (B), (C), (D) 

72.	 Assertion (A): Arteries have thick and elastic walls 
as compared to veins.

	 Reason (R): The pressure of blood flow in arteries is 
low as compared to veins. 
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
73.	 Which of the following statements are true?

(A)	Crystallisations is a chemical change.
(B)	Photosynthesis is a chemical change.
(C)	Ripening of fruit is a physical change.
(D)	Formation of curd from milk is a chemical 

change.
(1)	 (B) and (C)	 (2)	 (C) and (D) 
(3)	 (A) only (B)	 (4)	 (B) and (D) 

74.	 When a ray of light enters from medium A to 
medium B, its speed decreases and on further 
entering into medium C, its speed increases.
(1)	 Refractive index of A and C are less than B
(2)	 Refractive index of A, B, C cannot be compared 

from above information
(3)	 Refractive index of A is more than B and C
(4)	 Refractive index of A is less than B but equal to C

75.	 The buoyant force on an object immersed in liquid 
acts in:
(1)	 all direction	
(2)	 parallel to liquid surface 
(3)	 upward direction	
(4)	 downward direction

76.	 Which of the following statements is/are true 
regarding relative reactivity of metals?
(A)	Zinc is more reactive than Iron but less reactive 

than Aluminium
(B)	Sodium is more reactive than Potassium and 

Calcium.
(c)	 Aluminium is more reactive than Magnesium.
(1)	 (A) and (C)	 (2)	 Only (C)
(3)	 (A) and (B)	 (4)	 Only (A)

77.	 Which of the following have the most scope for 
promoting Art integrated learning in Science?
(1)	 Anecdotal records, Journal writing 	
(2)	 Journal writing, Field trips
(3)	 Portfolios, Anecdotal records 	
(4)	 Projects, Portfolios

78.	 .......(A)....... is a technique of vegetative propagation 
in which a part of the stem or a young brand of a 
plant is pulled and buried in moist soil, such that 
branch is still attached to the pears plant. After some 
time, roots develop in the buried part and it grows 
into a new plant. .......(B)....... is an example of plant 
usually grown through this technique.

	 (A) and (B) respectively are:
(1)	 Budding, Hydra	 (2)	 Layering, Jasmine
(3)	 Cutting, Potato	 (4)	 Grafting, Rose

79.	 Read the following statements in the context of Law 
and Theories in Science:

	 S1� :� �Laws are generalisation statement whereas 
theories are explanations.

	 S2 �: �Laws are very old and theories are contemporary.
	 S3 �: �Laws can't be changed whereas theories are 

subject to change.
(1)	 S1 and S3 are true whereas S2 is false 	
(2)	 S3 is true whereas S2 and S3 are false
(3)	 S1 is true S2 and S3 are false	
(4)	 S1 and S2 are true whereas S3 is false

80.	 Assertion (A): Achievement in STEM related courses 
is influenced by gender.

	 Reason (R): Problem solving strategies used by boys 
and girls are different.  
(1)	 (A) is true but (R) is false.
(2)	 Both (A) and (R) are false.
(3)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(4)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
81.	 Which of the following statements are true in the 

context of whales and dolphins?
(A)	They cannot use dissolved oxygen.
(B)	They have gills
(C)	They have large nostrils.
(D)	They often come up to the water surface to 

breathe.
(1)	 (B), (C), (D)	 (2)	 (A), (B), (D)
(3)	 (A), (B), (C)	 (4)	 (A), (C), (D)

82.	 Which of the following questions is a divergent 
question? 
(1)	 How does gravity vary with the altitude? 
(2)	 What would happen to gravity if the size of the 

Earth is reduced to half?
(3)	 Why does a ball thrown up comes down?
(4)	 What if there was no gravity on the Earth?

83.	 The following activity is done in the Class VII:
	 Students are given four iron bars out of which two 

are bar magnets. They are asked to identify that bar 
magnets. Which of the following process skills can 
be promoted through this activity? 
(1)	 Observation, Classification, Communication, 

Measurement
(2)	 Observation, Estimation, Experimentation, 

Controlling variables.
(3)	 Observation, Formulating hypothesis, Measuring 
(4)	 Observation, Classification, Inferring
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84.	 Which of the following represents correct matching 

set in the context of aquatic plants?
	 Adaptation		  Purpose
(a)	 Large circular leaves	 (i)	 Helpful in protecting 	

		  against decay
(b)	 Waxy coating  	 (ii)	Helpful in offering 		

		  resistance to water 		
		  currents

(c)	 Stems have large 	 (iii) Helpful in providing 
	 and holes	 	 buoyancy
(d)	Ribbon like leaves 	 (iv)	�Helpful in staying 

afloat
(1)	 (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
(2)	 (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
(3)	 (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(4)	 (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

85.	 S1: Self pollination can take place only in bisexual 
flowers.

	 S2: Cross pollination can take place only in  
unisexual flowers.
(1)	 S1 is true and S2 is false
(2)	 S1 is false and S2 is true
(3)	 Both S1 and S2 are true
(4)	 Both S1 and S2 are false

86.	 On the basis of the following information, identify 
the substances which give flame on burning:

Substance State Vapourises on burning

A Solid No

B Liquid Yes

C Solid Yes

D Liquid No
(1)	 B and C	 (2)	 C and D
(3)	 A and D	 (4)	 A and B

87.	 Which of the following statements is/are true 
regarding nature of science?
(A) Scientific ideas are not affected by cultural 

context.
(B) There is no single scientific method.
(1)	 (A) is false but (B) is true.
(2)	 Both (A) and (B) are false.
(3)	 Both (A) and (B) are true.
(4)	 (A) is true and (B) is false.

88.	 (A) �Sunita takes 0.5 g of Sodium Carbonate in a test-
tube and adds 5 ml of Dilute Hydrochloric acid.

	 (B) �She passes the gas produced in the above reaction 
through Lime water.

(1)	 (A) - NaHCO3 + HCl ® NaCl + H2O + CO2 	
	 (B) - Ca(OH)2 + CO2 ® CaCO3 + H2O
(2)	 (A) - NaHCO3 + HCl ® NaCl + H2O + CO2
	 (B) - CaCO3 + H2O + CO2 ® Ca(HCO3)2
(3)	 (A) - �Na2CO3 + 2HCl ® 2NaCl + H2O + 

CO2	
	 (B) - CaCO3 + H2O + CO2 ® Ca(HCO3)2 
(4)	 (A) - Na2CO3 + 2HCl ® 2NaCl + H2O + CO2
	 (B) - Ca(OH)2 + CO2 ® CaCO3 + H2O

89.	 Which of the following statements is true?
(1)	 Soil with low water holding capacity has poor 

aeration and low percolation rate.	
(2)	 Soil with low water holding capacity has good 

aeration and high percolation rate.
(3)	 Soil with low water holding capacity has poor 

aeration and high percolation rate.	

(4)	 Soil with low water holding capacity has good 
aeration and low percolation rate.

90.	 Which of the following should not be the purpose of 
open book assessment in Science?
(1)	 To score more marks in tests	
(2)	 To give opportunity to explore the book
(3)	 To reduce the fear of assessment in learners	
(4)	 To gauge conceptual understanding of learners

Language-I: English

Read the passage given below and answer the question 
(91-99) that below:
1.	� Colours have a deeper significance for a home than 

one can imagine. If used right, they can give a perfect 
look. In today's time, when there is an abundance of 
everything but space, colour plays an important role 
in creating the right ambience and perhaps the space 
that you crave for. Besides having a tremendous 
potential to create mood through sheer appeal to 
the sense right use of colours actually helps you to 
create a spacious feeling.

2.	� For instance, instead of using a plain monotonous 
colour on all four walls, if you get a little imaginative, 
perhaps a little bold, you can create a sense of space 
within those four walls. One of the ways would be 
to blend light and dark colours. Or to paint two 
opposite sides in a lighter shade than the other two. 
Colour can add height to your room too. For instance, 
if the room is painted white and the upholstery of 
your furniture is in deep blue tone, the false ceilings 
could be painted in a light blue shade. Think out of 
the box to give even more interesting effects to your 
room.

3.	 Whatever your choice is, there are options in the 	
	� market to help you realise your needs. These days 

you get special patterned stencils to decorate walls 
with interesting patterns like flowers, leaves, bride 
etc. Some people draw an entire scenery on one 
side of the wall to give the feeling of bringing the 
outdoors inside. The choices are many and so are 
the creative ways. Just let your imagination flow. 
Every room reflects the personality of the occupant, 
hence it is important to pay attention to every detail. 
Your walls are your canvases, freshly painted and all 
bare. Go ahead, splash colours and watch the effect 
unfold.      

91.	 According to the writer, it is important to pay 
attention to the colour scheme of your home because:
(1)	 the walls reveal the secrets of your life 	
(2)	 the monotonous shades add life to the rooms
(3)	 the ambience created makes it look boring	
(4)	 it reflects the personality of the owner

92.	 To think out of the box' does not mean to think:
(1)	 in unusual ways
(2)	 traditionally
(3)	 creatively and imaginatively
(4)	 about novel ideas

93.	 Identify the parts of speech of the underlined words 
in the sentence given below: 'Right use of colours 
actually helps you create the spacious feeling:
(1)	 Preposition, verb
(2)	 conjunction, verb
(3)	 adverb, noun
(4)	 verb, adverb
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94.	 Complete the given word analogy:
	 monotonous : dull :: ambience : ?

(1)	 aura	 (2)	 weather
(3)	 room	 (4)	 temperature

95.	 Read the following statements:
(a)	 Colours if used creatively can give the perfect 

look to a room.	
(b)	 Space is abundant nowadays.
(c)	 The right colour combination on walls and the  

roof creates a spacious feeling.	
(1)	 (a), (b) and (c) are all correct	
(2)	 (a) and (c) are incorrect, (b) is incorrect
(3)	 (a) and (c) are correct, (b) is incorrect	
(4)	 (b) and (c) are correct, (a) is incorrect

96.	 The word opposite in meaning to the underlined 
word in the given sentence is:

	 'Right use of colours actually helps you create the 
spacious feeling'.
(1)	 fresh	 (2)	 special
(3)	 cramped	 (4)	 airy

97.	 As mentioned by the writer in para 1, In today's 
times, what is a modern-day homeowner longing 
for? 
(1)	 Sheer appeal	 (2)	 Imagination
(3)	 Colours	 (4)	 Space

98.	 Some people draw colourful sceneries on their home 
walls to:
(1)	 create a sense of space
(2)	 blend dark and light colours
(3)	 give a deeper significance to their home
(4)	 bring nature into their homes

99.	 As mentioned by the writer in para 2, some ways 
which you can break the monotony of the room are:
(1)	 by blending light and dark shades
(2)	 painting all the 4 walls in plain colours
(3)	 both (1) and (2)
(4)	 (1) is correct, but not (2)

Read the poem given below and answer the questions 
(l00–105) that follow:
Between my fingers and my thumb
The squat pen rests: snug as gun
Under my window, a clean rasping sound
When the spade sings into gravelly ground.
	 My father, digging, I look down
	 Till his straining rump among the flowerbeds
	 Bends low, comes up twenty years away
	 Stooping in rhythm through potato drills,
Where he was digging
The coarse boot nestled on the lug, the shaft
Against the inside knee was levered firmly.
He rooted out tall tops, buried the bright edge deep.
	 To scatter new potatoes that we picked,
	 Loving their cool hardness in our hands.
100.	The poetic devices in line 2 and line 4 are:

(1)	 simile and alliteration	
(2)	 metaphor and simile	
(3)	 metaphor and personification	
(4) hyperbole and metaphor

101.	............... loving their cool hardness in our hands. 
What is the speaker referring to in the given line?
(1)	 The potatoes
(2)	 The potato drills
(3)	 The gun
(4)	 The handles of the spade

102.	What is the overall tone of the poem?
(1)	 disgust and animosity	
(2)	 nostalgic and admiration	
(3)	 annoyance and anger	
(4) pitiful and sympathetic

103.	Complete the word analogy:
	 coarse : rough :: snug : .....?.....

(1)	 lethal	 (2)	 comfortable
(3)	 lazy	 (4)	 perfect

104.	How does the speaker's father feel about his son's 
choice of career?
(1)	 He is glad his son is not a farmer.
(2)	 He is ambivalent towards the choice.
(3)	 The poem doesn't make it clear.
(4)	 He wishes, his son choose a more practical path.

105.	In the second stanza, the poet is observing:
(1)	 farmers in the fields	
(2)	 potato growers in the countryside
(3)	 a gardener tending flower beds	
(4)	 his father digging potatoes

106.	Here is text or some statements. Find out which 
language register this text represents.

	 The Indian Constitution recognises every person 
as equal. This means that every individual in the 
country, including male female and person from 
all castes, religions, tribes and educational and 
economic backgrounds are recognised as equal. This 
is not to say that inequity ceases to exist. It doesn't. 
But at least, in democratic India, the principle of the 
equality of all persons is recognised.
(1)	 Legal register	 (2)	 Scientific register
(3)	 Politic register	 (4)	 Social Science register

107.	Which of the following statements is true of a dialect 
of a language?
(1)	 A dialect is a bigger category and language is a 

smaller category.
(2)	 Sometimes different social groups may speak 

different dialects of the same language
(3)	 Dialects of language vary from region to region.
(4)	 Speakers of different dialects of one language 

can understand the other dialect speaker.
108.	Which of the following are known as receptive 

skills?
(1)	 Speaking and writing	 (2)	 Listening and reading
(3)	 Listening and writing	(4)	 Reading and speaking

109.	Which of the following languages is not a classical 
language?
(1)	 Telugu	 (2)	 Hindi
(3) Tame	 (4)	 Sanskrit

110.	A continuous record of instances of learning by the 
learners is known as:
(1)	 Proficiency assessment	(2)	 Diagnostic test
(3)	 Portfolio
(4) Continuous comprehensive assessment

111.	Which of the following tasks promotes integrated 
learning skills?
(1)	 Project work	 (2)	 Writing an article
(3)	 Role-play	 (4)	 Assignment

112.	A teacher of class VI develops the following tasks for 
a speaking activity. 

	 Speak five sentences about the desert and its climatic 
conditions. 

	 Is it a good task or not a task? Select from option 
your response and reason for the sames.
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(1)	 It is not a good task because some of the learners 

may not know about desert.	
(2)	 It is not a good task because it lacks context as 

there is no input for speaking about the desert 
and its condition.

(3)	 It is a good task because the learners may have 
studied about deserts in their geography class 
and will have inputs to speak.

(4)	 It is a good task because it makes the learner to 
talk about something i.e. the desert.

113.	What is 'systemic competence' in language learning?
(1)	 Understanding that all languages have a common 

structural system.
(2) Understanding that all humans have a system of 

many languages.
(3)	 Understanding and applying that language 

works as a system.
(4)	 Understanding and applying that language have 

a grammatical system.
114.	A teacher of Class VI does a warm up activity to 

connect their previous knowledge and experience 
with the text they would read. She asks her learners 
to look at the illustrations of the reading text (the story) 
before she begin to teach the text. What does she want 
her learners to do?
(1)	 Make predictions about the reading text.
(2)	 Make them understand the illustrations.
(3)	 Visualise the story through the illustration.
(4)	 Appreciate the illustrations.

115.	Which of the following is NOT true of the national 
Education Policy (NEP) 2020 on the study of foreign 
language?
(1)	 Foreign language does is not included not 

include in the three language studies under 
three language formula.

(2)	 French is one of the languages recommended of 
be studies as an additional option.

(3)	 Study of foreign languages as an additional 
option during the secondary stage.

(4)	 Study of foreign languages included as one of the 
languages under the three languages formula.

116.	What is the following strategy in the context of 
grammar teaching known as?

	 Introducing language items in contexts, marking 
learners notice the languages items, enabling them 
use in real life contexts and drawing the attention of 
learner to the form by discovering it.
(1)	 Discovery methods
(2)	 Consciousness Raising
(3)	 Creating a Schema
(4)	 Deductive method

117.	Which of the following refers to 'Knowing about 
language'?
(1)	 Grammatical knowledge
(2)	 Strategic competence
(3)	 Declarative knowledge
(4)	 Procedural knowledge

118.	Aparna, a learner of Class V, understands that 
listening involves listening to each sound, words, 
then sentences to get the meaning of the speech or 
an audio. Which approach/strategy she believes in 
for learning to listen?
(1)	 Both top–down and bottom up approach
(2)	 It is neither top-down nor bottom-up approach

(3)	 Top–down approach	
(4)	 Bottom-up approach

119.	Many Indians who go abroad for jobs learn the 
language of the place. What is this motivation 
known as?
(1)	 Instrumental motivation.
(2)	 It is neither instrumental nor integrative motivation.
(3)	 Both integrative and instrumental motivation.
(4)	 Integrative motivation.

120.	'Authenticity of materials' refers to: 
(1)	 materials written or developed in real life 

content.
(2)	 materials which children bring from home.
(3)	 materials written by the teacher for her class.
(4)	 materials written or developed by people in 

authority.

Language-I : Hindi

	 uhps fn, x, x|ka'k dks i<+dj iwNs x, iz'uksa (iz-l- 91-99) ds 
lcls mi;qDr mÙkj okys fodYi dks pqfu,%
	 f'k{kk ,d l`tukRes lkekftd ,oa lkaLÏfrd dk;Z gSA og ,d 
rjQ ekSf[kd ,oa fyf[kr lkaLÏfrd ijaijk dh okgd gksrh gSA fdarq 
nwljh vksj og laLÏfr dh fuekZ=h Hkh gSA D;ksaafd og izpfyr laLÏfr esa 
dqN u;k tksM+rh gS rFkk dqN iqjkuh phtksa dks ?kVkrh gS ;k mudk Lo:i 
cnyrh gSA pw¡fd dksbZ Hkh laLÏfr fdlh ns'kdky ds lkis{k gksrh gS] 
blfy, f'k{kk lcls igys u, ;qx ds fy, u;h laLÏfr fodflr djus 
dk dke djrh gSA og lekt esa izpfyr ijaijkvksa] jhfr-fjoktksa dh 
tkjh j[kus ds igys muds vkSfpR; ds ckjs esa lkspus dh izsj.kk Hkh nsrh 
gSA lkaLÏfrd dk;Z ds :i esa f'k{kk dks ns[kus ls ;g ckr Lor% Li"V 
gks tkrh gS fd laLÏfr u rks ,dkdh gksrh gS] u mls ckgjh izHkko ls 
jksdk tk ldrk gS vkSj u mldk izHkko nwljs lekt ij iM+us ls cpk;k 
tk ldrk gSA laLÏfr vius LoHkko esa vknku-iznku dh izfØ;k gS] ;g 
ges'kk izxfr'khy vkSj xzg.k'khy gSA  
91.	 ßdksbZ Hkh laLÏfr fdlh ns'kdky ds lkis{k gksrh gSAÞ bl okD; ls 

vk'k; gS%
(1)	 laLÏfr ns'k vkSj dky esa varj djrh gSA	
(2)	 laLÏfr fdlh Hkh rjg ls izHkkfor ugha gksrh gSA 
(3)	 laLÏfr vkSj ns'k esa ?kfu"B laca/k gSA	
(4)	 laLÏfr le; ,oa LFkku ds vuqlkj Lo;a esa ifjorZu ykrh gSA

92.	 fdl 'kCn esa ^bd* izR;; dk iz;ksx gqvk gS\
(1)	 izpfyr	 (2)	 lacaf/kr
(3)	 lkekftd	 (4)	 l`tukRed

93.	 buesa ls dkSu-lk 'kCn lewgksa ls fHkUu gS\
(1)	 lkaLÏfrd deZ	 (2)	 vknku-iznku	
(3)	 ekSf[kd ijaijk	 (4)	 izpfyr jhfr

94.	 fuEufyf[kr esa ls dkSu-lk 'kCn dkjd fpÎ ugha gS\
(1)	 ls	 (2)	 ds fy,
(3)	 dh	 (4)	 rFkk

95.	 izpfyr ijaijkvksa ds vkSfpR; ds ckjs esa lkspus dh izsj.kk dkSu nsrk gS\
(1)	 i;kZoj.k	 (2)	 /keZ	 (3)	 f'k{kk	 (4)	iqLrdsa

96.	 ^laLÏfr ij rjg-rjg ds izHkko iM+rs gSa* ;g ckr dSls le>h tk 
ldrh gSµ 
(1)	 tc f'k{kk dks laLÏfr ls tksM+dj ns[kk tk,A
(2)	 f'k{kk dks i`Fkd :i ls ns[kk tk,A
(3)	 tc f'k{kk dks /keZ ls tksM+dj ns[kk tk,A
(4)	 tc f'k{kk dks laLÏfr ls vyx djds ns[kk tk,A
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97.	 f'k{kk dks fdl izdkj ds dk;Z ds :i esa ns[kk x;k gS\
(1)	 lkaLÏfrd 	 (2)	 HkkSfrd
(3)	 vkfFkZd 	 (4)	 jktuSfrd

98.	 f'k{kk laLÏfr dks fuekZ=h gS] D;ksafd%
(1)	 og jkfr-fjokt dh ifjpk;d gSA
(2)	 og iajijkvksa dks T;ksa dk R;ksa Lohdkjrh gS
(3)	 og ekStwnk laLÏfr esa dqN uohurk ykrh gSA
(4)	 og ijaijkvksa dks :<+ :i nsrh gSA

99.	 x|ka'k ds vuqlkj dkSu-lk okD; lgh gS\
(1)	 laLÏfr esa xfr'khyrk dk vHkko gSA	
(2)	 laLÏfr ges'kk izxfr'khy gSA
(3)	 laLÏfr dh eq[; fo'ks"krk mldk ,dkdhiu gSA	
(4)	 laLÏfr esa fdlh Hkh izdkj dk vknku-iznku ugha gksrk gSA

	 fuEufyf[kr i|ka'k dks i<+dj iwNs x, iz'uksa (iz-la- 100-105) 
	 ds lcls mi;qDr mÙkj okys fodYi dks pqfu,%
	 dye]vkt mudh t; cksyA
	 tyk vfLFk;k¡ ckjh-ckjh
	 fNVdkbZ ftuus fpuxkjh
	 tks p<+ c, iq.; osnh ij fy, xjnu dk eksyA
	 dye] vkt mudh t; cksyA
	 tks vxf.kr y?kq nhi gekjs]
	 rwQkuksa esa ,d fdukjs]
	 ty-tydj cq> x, fdlh fnu ek¡xk ugha Lusg eq¡g [kksyA
	 dye] vkt mudh tc cksyA 
	 ihdj ftudh yky f'k[kk,¡
	 mxy jgha yw-yiV fn'kk,¡
	 ftuds flagukn ls lgeh /kjrh jgh vHkh rd MksyA
	 dye] vkt mudh t; cksyA
100.	i|ka'k esa ^flagukn~* 'kCn ls vk'k; gSµ

(1)	 ;q¼ /ofu	 (2)	 leosr Loj
(3)	 flag dh xtZuk	 (4)	 yydkj

101.	^fuLokFkZZ Hkko ls vius izk.kksa dk cfynku dj fn;k*
	 ;g Hkko fdl iafDr esa eq[kfjr gqvk gS\

(1)	 tks p<+ x, iq.; osnh ij fy, fcuk xjnu dk eksyA	
(2)	 dye] vkt mudh t; cksyA	
(3)	 fdlh fnu ek¡xk ugha Lusg eq¡g [kksyA	
(4)	 lgeh /kjrh jgh vHkh rd MksyA

102.	^dye] vkt mudh t; cksy* iafDr ls D;k vfHkizk; gS\
(1)	 lHkh ds fy, iz'kalk ds 'kCn fy[ks tk,¡	
(2)	 fy[kus dh vis{kk cksydj xq.kxku fd;k tk,A
(3)	 t;-t;dkj ds ukjs yxk, tk,¡A	
(4)	 ns'k ds fy, lefiZr ykskxksa ds fy, fy[kk tk,A

103.	fHkUu 'kCn lewg dh igpku djsa\
(1)	 tyk vfLFk;k¡	 (2)	 iq.; osnh
(3)	 y?kq nhi	 (4)	 yky f'k[kk,¡

104.	bl i|ka'k esa dkSu-lh Hkkouk vfHkO;Dr gqbZ gS\
(1)	 izÏfr izse 		 	 (2)	ik[kaM fojks/k	
(3)	 ns'kizse	 	 	 (4)	lekt lq/kkj

105.	^fNVdkbZ ftuus fpuxkjh]* iafDr esa js[kkafdr 'kCn fdlds fy, 
iz;qDr gqvk gS\
(1)	 lkekftd dk;ZdrkZ	 (2)	 Lora=k lsukuh
(3)	 jktuhfrK	 (4)	 v/;kid

106.	;gk¡ ,d ikB; lekxzh ;k dqN dFku gSaA irk yxkb, fd ;g ikB; 
lkexzh fdl Hkk"kk iz;qfDr (jftLVj) dk izfrfuf/kRo dj jgh gS\

	 ^Hkkjr dk lafo/kku izR;sd O;fDr dks leku :i ls ns[krk gSA 
bldk rkRi;Z ;g gqvk fd ns'k esa izR;ssd O;fDr] efgyk vkSj iq#"k] 
lHkh /keks±] tkfr;ksa] vkfnoklh] 'kSf{kd vkSj vkfFkZd iz"BHkwfe ds] 
lHkh dks leku :i ls ns[kukA bldk rkRi;Z ;g ugha gS fd 
vlekurk lekIr gks pqdh gSA vlekurk ugha gksuh pkfg,A de ls 
de yksdrkaf=d Hkkjr esa lHkh O;fDr;ksa dh lekurk dk fl¼kUr 
ek;us j[krk gSA*
(1)	 dkuwuh iz;qfDr	 (2)	 oSKkfud iz;qfDr
(3)	 jktuhfrd iz;qfDr	 (4)	 lkekftd foKku iz;qfDr

107.	fuEufyf[kr esa ls dkSu-lk dFku Hkk"kk dh cksyh ds ckjs esa lgh 
gS\
(1)	 cksyh ,d cM+h Js.kh gS vkSj Hkk"kk rqyukRed :i ls NksVh 

Js.kh esa vkrh gSA
(2)	 dHkh-dHkh fofHkUu lkekftd lewgksa ds yksx ,d Hkk"kk dh 

fofHkUu cksfy;k¡ cksyrs gSaA
(3)	 Hkk"kk dh cksfy;k¡ ,d {ks= ls nwljs {ks= esa fHkUu-fHkUu gksrh gSaA
(4)	 ,d Hkk"kk dh fofHkUu cksfy;k¡ cksyus okys nwljh cksyh cksyus 

okys dh ckr le> ikrs gSaA

108.	fuEufyf[kr esa ls fdUgsa xzg.k'khy (fjlsfIVo) dkS'kyksa ds :i esa 
tkuk tk,xk\
(1)	 cksyuk vkSj ys[ku	 (2)	 Jo.k vkSj iBu
(3)	 Jo.k vkSj ys[ku	 (4)	 iBu vkSj cksyuk

109.	fuEufyf[kr esa ls dkSu-lh 'kkL=h; Hkk"kk ugha gS\
(1)	 rsyqxw	 (2)	 fganh
(3)	 rfey	 (4)	 laLÏr

110.	f'k{kkfFkZ;ksa }kjk gq, vf/kxe ds mnkgj.kksa dk lrr :i j[kk x;k 
fjdkMZ D;k dgyk,xk\
(1)	 fuiq.krk vkdyu 	 (2)	 funkukRd ijh{k.k
(3)	 iksVZQksfy;ks	 (4)	 lrr lkjxfHkZr vkdyu

111.	fuEufyf[kr esa ls dkSu-lk dk;Z lesfdr vf/kxe dks leqUurk 
djrk gS\
(1)	 ifj;kstuk dk;Z
(2)	 dksbZ ,d vkys[k (vkfVZdy) fy[kuk
(3)	 jksy Iys
(4)	 iznÙk dk;Z

112.	d{kk Ng dh v/;kfidk cksyus ls lacaf/kr fdlh xfrfof/k ds fy, 
fuEufyf[kr dk;Z rS;kj djrh gSµ

	 ßjsfxLrku vkSj mldh tyok;q fLFkfr ds ckjs esa dksbZ ik¡p okD; 
cksfy,AÞ

	 D;k ;g ,d vPNk dk;Z ugha gS\ vius mÙkj vkSj mÙkj ds dkj/k 
dk p;u djsaA
(1)	 ;g vPNk dk;Z ugha gS D;ksafd dqN f'k{kkFkhZ jsfxLrku ds ckjs 

esa ugha tkurs gksaxsA	
(2)	 ;g ,d vPNk dk;Z ugha gS D;ksafd blesa lanHkZ dh deh gS 

D;ksafd mUgsa jsfxLrku vkSj mldh fLFkfr;ksa ds ckjs esa dqN ugha 
crk;k x;k gSA

(3)	 ;g ,d vPNk dk;Z gS D;ksafd f'k{kkfFkZ;ksa us Hkwxksy dh fdrkc 
esa jsfxLrku ds ckjs esa i<+k gksxk] blfy, muds ikl cksyus ds 
fy, lkexzh gSA	

(4)	 ;g ,d vPNk dk;Z gS] D;ksafd ;g f'k{kkFkhZ dks dqN cksyus ds 
fy, rS;kj djrk gS] ;g jsfxLrku gSA
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113.	Hkk"kk vf/kxe esa ^laok±xh (flLVfed) n{krk* D;k gSµ
(1)	 bl ckr dks le>uk fd lHkh Hkk"kkvksa dh ,d lkekU; 

lajpukRed O;oLFkk gSA
(2)	 bl ckr dh le> fd lHkh euq";ksa ds ikl cgqr lh Hkk"kkvksa 

dh O;oLFkk,¡ gSaA 
(3)	 bl ckr dks le>uk vkSj iz;ksx esa ykuk fd Hkk"kk ,d O;oLFkk 

ds :i esa dk;Z djrh gSA
(4)	 bl ckr dks le>uk vkSj iz;ksx esa ykuk fd Hkk"kkvksa dh ,d 

O;kdjf.kd O;oLFkk gSA 
114.	d{kk Ng dh v/;kid vkt i<+h tkus okyh Hkk"kk lkexzh dks 

f'k{kfFkZ;ksa ds iwoZ Kku vkSj vuqHko ls tksM+us ds fy, ^okeZ vi* 
xfrfof/k djokrh gSA ikB~; lkexzh i<+kuk&'kq: djus ls igys 
f'k{kk£Fk;ksa dks ikB~; lkexzh (dgkuh) ds fp= ns[kus ds fy, 
dgrh gSA og vius f'k{kkfFkZ;ksa ls D;k djokuk pkgrh gSµ
(1)	 ikB; lkexzh ds ckjs esa vuqeku yxkuk
(2)	 fp=ksa dks le>us dh {kerk fodflr djuk
(3)	 fp=ksa ds ek/;e ls dgkuh dh eu esa dYiuk dj ikuk
(4)	 fp=ksa dh ljkguk djuk

115.	fuEufyf[kr esa ls dkSu-lk fons'kh Hkk"kkvksa ds v/;;u ds laca/k esa 
jk"Vªh; f'k{kk uhfr 2020 ifjizs{; esa lgh ugha gS\
(1)	 fons'kh Hkk"kk dks f=Hkk"kk lw= ds vUrxZr v/;;u dh tk kgh 

rhu Hkk"kkvksa esa 'kkfey ugha fd;k x;k gSA	
(2)	 ÝSap dks ,d vfrfjDr fodYi ds :i esa vuq'kaflr fd;k 

x;k gSA
(3)	 ek/;fed pj.k ds nkSjku ,d vfrfjDr fodYi ds :i esa 

fons'kh Hkk"kkvksa dk v/;;uA	
(4)	 f=Hkk"kk lw= ds vUrxZr Hkk"kkvksa esa ls ,d ds :i esa fons'kksa 

Hkk"kkvksa dk v/;;uA

116.	fuEufyf[kr esa ls dkSu-lh ;qfDr ^lanHkZ esa O;kdj.k f'k{k.k* ls 
lacaf/kr gS\

	 lanHkZ esa Hkk"kk dh lkexzh izLrqr djuk f'k{kkfFkZ;ksa dk /;ku Hkk"kk dh 
lkexzh dh vksj fnykuk] thou dh okLrfod ifjfLFkfr;ksa esa Hkk"kk 
iz;ksx ds ;ksX; cukuk vkSj f'k{kkfFkZ;ksa dk /;ku [kkst-chu ds }kjk 
mlds fu;eksa dh vksj fnykukA
(1)	 [kkst-chu fof/k	 (2)	 lpsrurk tkx`r djuk
(3)	 Ldhek dk l`tu	 (4)	 fuxeukRd fof/k

117.	fuEufyf[kr esa ls dkSu-lk ^Hkk"kk ds ckjs esa tkurk* ls lacaf/kr gSa\
(1)	 O;kdj.kijd Kku	 (2)	 ;qfDrijd n{krk
(3)	 ?kks"k.kkRed Kku	 (4)	 izfØ;kRed Kku

118.	vi.kkZ] d{kk ik¡p dh f'k{kkFkhZ ;g le>rh gS fd fdlh vkfM;ks 
;k ckrphr dk vFkZ le>us ds fy, Jo.k esa izR;sd /ofu] 'kCnksa 
fQj okD;ksa dh lquu 'kkfey gSA og Jo.k vf/kxe ds fdl 
mikxe@;qfDr esa fo'okl j[krh gS\
(1)	 VkWi Mkmu vkSj vkSj ckWVe-vi nksuksa mikxe
(2)	 ;g u rks VkWi Mkmu gS vkSj u gh ckWVe-vi mikxe gS
(3)	 'kh"kZ v/kkseq[kh mikxe (VkWi Mkmu) 
(4)	 v/kks 'kh"kZeq[kh mikxe (ckWVe-vi)

119.	cgqr ls Hkkjrh; tks ukSdjh ds fy, fons'k tkrs gSa] os ml LFkku dh 
Hkk"kk lh[krs gSaA bl izsj.kk dks D;k dgk tk,xk\
(1)	 ;kaf=d izsj.kk	
(2)	 ;g u rks ;kaf=d gS vSj u gh lekdyukRed gS
(3)	 lekdyukRed vkSj ;kfU=d nksuksa izdkj dh izsj.kk	
(4)	 lekdyukRed izsj.kk

120.	^lekxzh dh izkef.kdrk* fdlls lacaf/kr gS\
(1)	 thou ds okLrfod lanHkksZ esa fodflr ;k fyf[kr lkexzh 
(2)	 og lkexzh tks cPps ?kj ls ysdj vkrs gSa
(3)	 v/;kid }kjk viuh d{kk ds fy, fy[kh xbZ lkexzh
(4)	 lÙkklhu ykskxksa }kjk fodflr ;k fyf[kr lkexzh

Language-II : English

Read the passage given below and answer the question 
(121–128) that below:
1.	 Surrounded by verdant forests, natural springs and 

blue hills, Nararhat is Jharkhand's best-kept secret, 
located in the district of Latehar, at a distance of 
about 151 km from the capital city of Ranchi. This 
quaint hill station brings solace and gives visitors 
much-deserved refuge from the hustle and bustle of 
cities. It is located at an altitude of 3696 feet, allowing 
people to enjoy magnificent views. Fabulous sunrises 
and stunning sunsets leave the visitors awestruck. 
Explore the surreal beauty of this beautiful place, 
also known as "Queen of Chota Nagpur" and return 
refreshed and rejuvenated.	

2.	 With its shimmering waters, sparking reflections, 
cool air and breathtaking scenery, Netarhat Lake 
offers serenity to its visitors. It is an ideal spot for 
picnics, and the lake's tranquil waters tempt you 
to go boating as well. Get closer to nature with the 
most beautiful forests in Jharkhand and the pine 
forest. Netarhat, with its pretty lakes, shady valleys, 
mountain villages and thick evergreen forests filled 
with gorgeous pine trees, provides a panoramic 
scene to the visitors. The pine forests are another 
world entirely.

3.	 The most well-known location is the Sunrise Point 
which offers a spectacular view of the sun rising that 
resembles an oil painting. Visitors cannot help but be 
struck by the sun's rays as they emerge from valleys 
covered in lush vegetation and a cluster of tall trees. 
The most picturesque view of the sunrise is visible 
from Hotel Prabhat Vihar, situated 17 km from 
Bazaar Haat. Netarhat certainly is a perfect getaway 
in the heart of nature. Guest houses provide cosy 
accommodations and a heavenly dining palette to 
its visitors.  

121.	As mentioned in para 1, 
	 the quaint hill station, Netarhat gives peace and 

calm to visitors because :
(1)	 they can enjoy train rides
(2)	 they can go paragliding from hilltops.
(3) they can be away from hectic city life.
(4) they can go fishing in the lake waters.

122.	The phrase 'hustle and bustle of cities' implies:
(1)	 peace and calm in cities
(2)	 busy and noisy cities
(3)	 beauty and eye catching views of cities
(4)	 stunning sights and scenes of cities

123.	Complete the given word analogy:
	 gorgeous : beautiful :: tranquil : ..?..

(1)	 choppy	 (2)	 blue-green
(3)	 misty	 (4)	 peaceful
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124.	The Sunrise Point offers visitors a breathtaking view 

of:
(1)	 the sunrise
(2)	 an oil painting
(3)	 lush vegetation
(4)	 Both (1) and (3)

125.	Read the following statements:
	 (a)	� Netarhat is located at a height of 3696 feet.
	 (b)	 It is referred to as the 'Queen of Chota Nagpur'
	 (c)	 Netarhat is blessed with verdant banyan forests

(1)	 (a) and (b) are correct, (c) is incorrect
(2)	 (a), (b) and (c) are all correct
(3)	 (a) and (c) are correct, (b) is incorrect
(4)	 (b) and (c) are correct, (a) is incorrect

126.	Identify the parts of speech of the underlined words 
in the given sentence:

	 'Fabulous sunrises' and stunning sunsets leave the 
visitors awestruck.
(1)	 noun, adverb 	 (2)	 verb, adjective
(3)	 noun, adjective	 (4)	 verb, adverb

127.	The underlined word in the phrase 'this quaint hill 
station brings solace ...' implies:
(1)	 it evokes curiosity	
(2)	 it brings peace and comfort
(3)	 it makes you breathless	
(4)	 it makes you visit the place year after year

128.	Which one of the following scenic views is not found 
in Netarhat?
(1)	 Clusters of tall pine trees	
(2)	 Scintillating views of sunrises
(3)	 Refugee camps	
(4)	 Beautiful sunrises and sunsets

Read the passage given below and answer the question 
(129–135) that follow:
1.	 It was Somi's idea that we meet at the pool in ten 

years time. "When we are men, we must come back 
to this place, ten years from today," he said. "Rusty, 
at midday on 5 April 1964, we must return to the 
pool, no matter where we are, or what we are doing. 
Promise?" It was a school boy's pledge and made in 
deadly earnest. As boys, we usually mean the things 
we say. And so we shook hands on it and dived back 
into the water.

2.	 The pool had been discovered by me a few months 
earlier. I remember that it was going to rain... I 
could see the rain moving across the foothills, and 
I could smell it in the breeze. But instead of turning 
homewards, I pushed my way through the leaves 
and brambles that grew across the forest path. I 
had heard the murmur of water and I wanted to 
see and touch it. Sliding down the rockface into a 
small ravine, I found a stream running over a bed of 
shingle. Water trickled down from the hillside, from 
amongst ferns and grasses and wild primroses. The 
rocks beside the stream were smooth, and some of 
them were grey and some yellow. A small waterfall 
came down the rocks and formed a deep pool of 
apple-green water.  

3.	 When I saw the pool, I ran back to town to tell the 
others. Anil and Somi were my closest friends. Anil 
lived in a crowded lane of the Dilaram Bazaar. He 
was wild and a little dangerous, subject to moods 
and impulses. Somi was sensitive and gentle in his 

ways, but common with Anil he has a sense of fun 
and an instinct for adventure. The pool was my own 
discovery, and I was proud of it. "We'll call it Rusty 
Pool", said Somi. 

129.	'............ a pledge made in deadly earnest' implies:
(1)	 a promise in complete seriousness 
(2)	 a promise not to be kept
(3)	 being suspicious about someone's intention
(4)	 to wish for the death of someone

130.	Identify the parts of speech of the underlined words 
in the given sentence:

	 'He was wild and a little dangerous, subject to moods 
and impulses'. 
(1)	 adverb, noun	 (2)	 adjective, noun
(3)	 adverb, adjective	 (4)	 adjective, adjective

131.	Which word can be the nearest synonym for the 
word 'instinct'?
(1)	 inclination	 (2)	 hatred
(3)	 affinity	 (4)	 premonition

132.	Complete the word analogy given below :
	 crowded : deserted :: vigour : ?

(1)	 weakness	 (2)	 lethargy
(3)	 heaviness	 (4)	 strength

133.	What brought the three boys together?
(1)	 their childhood mischiefs	
(2)	 their spirit of adventure
(3)	 their swimming talents	
(4)	 their earnest attitudes

134.	Which one of the following options does not describe 
the pool in the stream?
(1)	 apple-green colour of the water
(2)	 water trickling among ferns and grasses
(3)	 rough rocks on the bed
(4)	 trickling waterfall down the rocks

135.	Who among the three friends proposed the idea of 
meeting at the pool ten years hence?
(1)	 Rusty	 (2)	 Somi and Rusty
(3)	 Anil	 (4)	 Somi

136.	Which of the following is TRUE of the study of 
classical language as advocated by the National 
Education Policy (NEP) 2020?
(1)	 Study of classical language during the 

preparatory stage.
(2)	 Study of classical language as a core language at 

the secondary stage.
(3)	 Study of classical language as an additional 

option during secondary stage.
(4)	 Study of classical language as an option under 

three language formula.
137.	What are the stages involved in designing and doing 

a Project Work in language classroom?
(1)	 Forming groups, identifying the topic, planning, 

collection of data, writing the draft interpretation 
of data and finalisation of the report.	

(2)	 Teacher and learners can design and do the 
project work any way they want to.

(3)	 Forming groups, planning, collection of data, 
interpretation of data, writing the draft, 
identifying the topic and finalisation of the 
report.	

(4)	 Forming groups, identifying the topic, planning, 
collection of data, interpretation of data, writing 
the draft and finalisation of the report.
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138.	A teacher of Class VII wants her learners to read 

the short text with an understanding of power and 
identity of the people and community presented 
in the text. What does the teacher aim to promote 
among learners?
(1)	 Analytical reading	 (2)	 Literary skills 
(3)	 Language literacy	 (4)	 Critical literacy

139.	Which of the following is NOT true about language?
(1)	 Language contributes to the sum of human 

knowledge
(2)	 Some language can only convey science and 

engineering better
(3)	 Language expresses identity
(4)	 Language is a repository of history

140.	Learner understands and applies that language 
works as a system.
(1)	 Sociolinguistic competence 
(2)	 Strategic competence
(3)	 Communicative competence
(4)	 Systemic competence

141.	A test which aims to identify an individual student's 
specific areas of weakness and strength is known as:
(1)	 Diagnostic test	 (2)	 Formative test
(3)	 Objective test	 (4)	 Validity test

142.	What is the status given to the English language in 
the Indian Constitution?
(1)	 Foreign language
(2)	 Language of statutory bodies
(3)	 Official language
(4)	 Associate Official language

143.	A teacher of Class VII wanted to give a writing 
task of writing a description of a person. She went 
out of the classroom and brought a Hawker to her 
classroom with his basket. She requested him to be 
there for about seven minutes and then asked her 
learners to work in pairs and write a description of 
the person.

	 What do you think the hawker in this activity known 
as?
(1)	 A participant in the activity	
(2)	 Materials
(3)	 Teaching Assistant	
(4)	 A Hawker

144.	Top–down approach to listening involves:
(1)	 Listening to overall message of the text, speech 

or the audio. 
(2)	 Listening to each sound, words, phrases, clauses 

and sentences.
(3)	 Paying attention to the specific details.
(4)	 Listening to the gist of the speech, text or the 

audio.
145.	Aditi knows the rules of the past perfect tense. But 

can't use in a context. What knowledge does she 
possess?
(1)	 Declarative knowledge	
(2)	 Application of knowledge
(3)	 Language acquisition device	
(4)	 Procedural knowledge

146.	Kripa and Karan are twins and speak a particular 
dialect of Manipuri. However they differ in their 
speech. What is their individual special way of 
speaking the dialect known as?
(1)	 Speech act	 (2)	 Manipuri
(3)	 Idiolect	 (4)	 Dialect

147.	Ashwin knows Odia from his birth and he studies 
English and Hindi. Based on this statement, find 
which of the following statements is NOT true?
(1)	 His English learning is language learning
(2)	 His English learning is language acquisition.
(3)	 His Odia learning is language acquisition.
(4)	 His Hindi learning is language learning.

148.	Subash, a teacher of Class VIII regrets, "Language 
assessment generally does not give importance to 
receptive skills." What does he mean by 'receptive 
skills'?
(1)	 Listening and reading	(2)	 Speaking and writing
(3)	 Listening and writing	 (4)	 Speaking and reading

149.	Here is a text. Read and find out which language 
register does the text belong?

		  Suddenly, after the resolution, it seemed possible 
to change this. In many parts of the world including 
Europe and Asia new ideas about individual 
rights and who controlled social power began to 
be discussed. In India, Raja Rammohan Roy and 
Derozio talked about the significance of the French 
Revolution. The developments in the colonies, in 
turn, reshaped these ideas of societal change.
(1)	 Social Science register	(2)	 Revolution register
(3)	 Science register	 (4)	 Political register

150.	Instrumental motivation is when:
(1)	 a person learns the language for their 

communities religious and social functions.	
(2)	 a person learns the language for writing a book.
(3)	 a person learns the language for utilitarian 

reasons like employment.	
(4)	 a person learns the language for being closer to 

the native speakers of the language.

Language-II : Hindi

	 fuEufyf[kr x|ka'k dks i<+dj iwNs x, iz'uksa (iz-l- 121-128) 
ds lcls mi;qDr mÙkj okys fodYi dks pqfu,%
	 ,d Lora= vkSj turkaf=d lekt ds fy, lkekU; laLÏfr dks 
iksf"kr djus okyh mPpLrjh; f'k{kk cgqr vko';d gSA ;g rHkh laHko 
gS tc f'k{kk cgqr ls dk;Zdykiksa dk vk;kstu djsA ;g lc ^fo|ky;* 
tSlh laLFkk esa laHko gks ldrh gSA fo|ky; f'k{kk ls tqM+h uhfr;ksa 
dks dk;kZfUor djrs gSaA thou dh xq.koÙkk ds lanHkZ esa f'k{kk dk ,d 
fof'k"V LFkku gSA ;g ekuo thou ds fofHkUu i{kksa ij cgqvk;keh 
izHkko Mkyrh gSA f'k{kk dk dk;Z f'k{kkFkhZ dks Hk; ls eqfDr fnykuk gSA 
fo|ky; ;g dke dj ldrh gSA fo|ky; esa f'k{kk dk okrkoj.k cPpksa 
dks tkudkjh nsus] fy[kuk i<+uk fl[kkus rd lhfer j[kus ds ctk, mUgsa 
Lor% lh[kus ds fy, c<+kok nsus okyk gks ftlls muesa fofHkUu laLÏfr;ksa 
dh le> iSnk gksxhA
121.	f'k{kk fdl izdkj ls laLÏfr dks iksf"kr djus okyh cu ldrh gS\

(1)	 cPpkas dks fo|ky; esa ukekafdr djds 	
(2)	 cPpksa ds fy, cgqr ls dk;Zdykiksa dk vk;kstu djds	
(3)	 cPpksa dks rjg-rjg dh lwpuk,¡ nsdj	
(4)	 cPpksa esa iBu-ys[ku dk dkS'ky fodflr djds

122.	^turkaf=d* esa dkSu-lk izR;; gS\
(1)	 bd	 (2)	 r 
(3)	 d 	 (4)	 bÙk

123.	^fo|ky;* dk laf/k foPNsn gksxkµ
(1)	 fo| $ vky;	 	 (2)	fo| $ vy;	
(3)	 fo|k $ vky;	 	 (4)	fo|k $ vy;

124.	x|ka'k ds vuqlkj f'k{kkFkhZ dks Hk; ls eqfDr fnykus dk dk;Z 
fdldk gS\
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(1)	 f'k{kk	 (2)	 uhfr
(3)	 lekt	 (4)	 laLÏfr

125.	fo|ky; dk ifjos'k dSlk gksuk pkfg,\
(1)	 Lor% vf/kxe c<+kok nsus okykA
(2)	 fy[kuk fl[kkus okykA
(3)	 tkudkjh nsus okykA
(4)	 i<+uk fl[kkus okykA

126.	dkSu-lk 'kCn fHkUu gS\
(1)	 lekt	 (2)	 Lora=
(3)	 f'k{kk	 (4)	 laLÏfr

127.	^fo|ky;* ds lanHkZ esa dkSu-lh ckr lgh gS\
(1)	 fo|ky; cPpksa ij cgqvk;keh izHkko ugha Mkyrs gSaA	
(2)	 fo|ky; Lo-vf/kxe dks izsfjr ugha djrs gSaA	
(3)	 fo|ky; esa f'k{kk tSlk dk;Z laHko ugha gSA	
(4)	 fo|ky; /keZ ls tqM+h uhfr;ksa dks dk;ZfUor ugha djrs gSaA 

128.	turkaf=d lekt ds fy, fdl rjg dh f'k{kk dh vko';drk 
gS\
(1)	 vkthfodk ds volj nsus okyhA	
(2)	 tkudkjh nsus okyhA
(3)	 laLÏfr dk lao¼Zu djus okyhA	
(4)	 oxZ Hksn iSnk djus okyhA

	 uhps fn, x, x|ka'k dks i<+dj iwNs x, iz'uksa (iz-l- 129-135) 
ds lcls mi;qDr mÙkj okys fodYi dks pqfu,%
	 fofHkUu Hkk"kkvkas esa lkfgR; dh fof'k"V fo/kk ds :i esa laLej.k 
dk egRoiw.kZ LFkku gSA fgUnh esa Hkh laLej.k fy[kus dh ,d lqnh?kZ 
ijaijk gSA tueu dh thou-;k=k dh varjax Nfo;ksa dks laLej.k dg 
ldrs gSaA laLej.kksa esa] thou esa vkus okys O;fDr;ksa] ik=ksa] LFkkuksa vkSj 
?kVukvksa dh varjax Nfo;k¡ izLrqr dh tkrh gSA blhfy, blesa lk/kkj.k 
vkSj egRoiw.kZ ik= vkSj izlax 'kkfey gksrs gSaA dbZ ckj lkfgR;dkj vius 
laLej.k dks ,d O;kid ;FkkFkZ ls gh tksM+dj j[krs gSa rks dbZ ckj mlesa 
viuh dYiuk dk Hkh iqV Hkj nsrs gSaA dqN lkfgR;dkj vius laLej.k ds 
ek/;e ls ekuoh; ljksdkjksa dks Hkh vfHkO;Dr djrs gSaA 
129.	izLrqr x|ka'k lkfgR; dh fdl fo/kk ds ckjs esa gS\

(1)	 laLej.k 	 (2)	 fuca/k
(3)	 thouh	 (4)	 dgkuh

130.	^lqnh?kZ* dk vFkZ gSµ
(1)	 vfr lqanj	 	 	 (2)	cgqr yack	
(3)	 vfr mÙke	 	 	 (4)	vfr fuiq.k

131.	fHkUu 'kCn lewg dh igpku djsaµ
(1)	 varjax Nfo	 (2)	 O;kid ;FkkFkZ 
(3)	 thou ;k=k	 (4)	 lqnhi ijaijk

132.	x|ka'k ds lanHkZ esa dkSu-lk okD; lgh ugha gS\
(1)	 laLej.k dsoy fganh lkfgR; dh gh fo/kk gSA	
(2)	 laLej.k esa lk/kkj.k o fof'k"V gj rjg ds izlax 'kkfey gksrs gSaA
(3)	 lkfgR;dkj laLej.k esa viuh dYiuk dk Hkh iqV Hkj nsrs gSA	
(4)	 laLej.k dk fof'k"V fo/kk ds :i esa egRoiw.kZ LFkku gSA

133.	laLej.k esa lk/kkj.k ls ysdj egRoiw.kZ ik= vkSj izlax 'kkfey gksrs 
gSa] D;ksafdµ
(1)	 blesa fof'k"V ?kVukvksa o ik=ksa dk gh fp=.k fd;k tkrk gSA
(2)	 blesa thou esa vkus okys fdlh Hkh ik=] izlax ?kVuk dk 

fp=.k gksrk gSA
(3)	 ;g fof'k"V lkfgR;dkj }kjk fy[ks tkrs gSaA 
(4)	 ;g fof'k"V lkfgR;dkj }kjk fy[ks tkrs gSaA 

134.	dqN lkfgR;dkj laLej.k ds ek/;e ls D;k vfHkO;Dr djrs gSa\
(1)	 oSKkfud psruk	 (2)	 la?k"kZ'khyrk
(3)	 ekuoh; ljksdkj	 (4)	 lektoknh n`f"Vdks.k

135.	x|ka'k ds vuqlkj laLej.k D;k gS\
(1)	 'kCnksa dk ljl iz;ksx	

(2)	 fof'k"V fopkj n'kZu
(3)	 Le`fr;ksa dk ladyu	
(4)	 thou ;k=k dh varjax Nfo;k¡

136.	fuEufyf[kr esa ls dkSu-lk dFku jk"Vªh; f'k{kk uhfr 2020 ds  
}kjk 'kkL=h; Hkk"kkvks ds v/;;u ds ckjs esa lgh gS\
(1)	 fizizsVjh pj.k ds nkSjku 'kkL=h; Hkk"kk dk v/;;u
(2)	 ek/;fed pj.k esa ,d dsUæd (dksj) Hkk"kk ds :i esa 

'kkL=h; Hkk"kk dk v/;;u
(3)	 ek/;fed pj.k ds nkSjku ,d vfrfjDr fodYi ds :i esa 

'kkL=h; Hkk"kk dk v/;;u
(4)	 f=Hkk"kk lw= ds vUrxZr ,d fodYi ds :i esa 'kkL=h; Hkk"kk 

dk v/;;u 
137.	Hkk"kk dh d{kk esa ifj;kstuk dk;Z dh vfHkdYiuk djus vkSj mls 

fØ;kfUor djus D;k-D;k pj.k layXu gS\
(1)	 lewg cukuk] VkWfid dh igpku] ;kstuk cukuk] vk¡dM+ksa dk 

laxzghdj.k] izk:i ys[ku] vk¡dM+ksa dh O;k[;k vkSj fjikVZ 
Qkbuy djukA 	

(2)	 v/;kid vkSj f'k{kkFkhZ feydj vkih bPNkuqlkj vius rjhds 
ls ifj;kstuk dk;Z dh vfHkdYiuk fØ;kUo;u dj ldrs gSA

(3)	 lewg cukuk] ;kstuk cukuk] vk¡dM+ksa dk laxzghdj.k] vk¡dM+ksa 
dh O;k[;k] izk:i ys[ku] VkWfid dh igpku vkSj fjiksVZ 
ys[kuA	

(4)	 lewg cukuk] VkWfid dh igpku] ;kstuk cukuk] vk¡dM+ksa dk 
laxzghdj.k] vk¡dM+ksa dh O;k[;k] izk:i ys[ku vkSj fjiksVZ 
Qkbuy djukA

138.	d{kk lkr dh ,d v/;kid vius f'k{kkfFkZ;ksa dks ,d y?kq iBu 
lkexzh i<+us ds fy, nsrh gS] ftlds ek/;e ls os ikB; lkexzh esa 
izLrqr yksx vkSj leqnk; dh lÙkk o igpku ds ckjs esa le> cuk 
ldsA v/;kid f'k{kkfFkZ;ksa esa fdl ckr dks leqUur djuk pkgrh 
gS\
(1)	 fo'ys"k.kkRed iBu	 (2)	 lkfgfR;d dkS'ky
(3)	 Hkk"kk lk{kjrk	 (4)	 lekykspukRed lk{kjrk

139.	Hkk"kk ds ckjs esa dkSu-lk lgh ugha gS\
(1)	 Hkk"kk ekuo Kku ds dqy ;ksx esa ;ksxnku nsrh gS
(2)	 dqN Hkk"kk,¡ dsoy foKku vkSj vfHk;kfU=dh dks gh csgrj :i 

ls lEizsf"kr dj ldrh gS
(3)	 Hkk"kk igpku vfHkO;Dr djrh gS
(4)	 Hkk"kk bfrgkl dk [ktkuk gS

140.	f'k{kkFkhZ ml Hkk"kk dks le>rs vkSj O;ogkj esa ykrs gS tks ,d 
O;oLFkk dh rjg dk;Z djrh gS\
(1)	 lkekftd Hkkf"kd n{krk	 (2)	 ;qfDrijd n{krk
(3)	 lEizs"k.kkRed n{krk	 (4)	 lok±xh (flLVfed) n{krk 

141.	,d ,slk ijh{k.k ftldk mís'; fo|kFkhZ fo'ks"k ds detksj vkSj 
izcy i{k ds fof'k"V {ks=ksa dh igpku djuk gS] D;k dgykrk gS\
(1)	 funkukRed ijh{k.k	 (2)	 jpukRed ijh{k.k
(3)	 oLrqfu"B ijh{k.k	 (4)	 oS/krk ijh{k.k

142.	Hkkjr ds lafo/kku esa vaxzsth Hkk"kk dh D;k fLFkfr gS\
(1)	 fons'kh Hkk"kk 	 (2)	 oS/kkfud fudk;ksa dh Hkk"kk
(3)	 jktdh; (vkWfQf'k;y) Hkk"kk	(4)	 lg jktdh; Hkk"kk

143.	d{kk lkr dh v/;kfidk fdlh ,d O;fDr ds o.kZu ls lacaf/kr 
ys[ku dk;Z nsuk pkgrh gSA og d{kk ls ckgj xbZ vkSj viuh d{kk 
esa ,d Qsjh pkys dks mlds lkeku lfgr ysdj vkbZA mlus ml 
Qsjh okys ls dgk fd og d{kk esa dksbZ lkrsd feuV ds fy, #ds 
fQj f'k{kkfFkZ;ksa dks nks-nks ds tksM+kasa esa ml O;fDr dk o.kZu fy[kus 
ds fy, dgkA og Qsjh okyk bl xfrfof/k esa fdl :i esa tkuk 
tk,xk\
(1)	 xfrfof/k dk ,d izfrHkkxh	 (2)	 lkexzh
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(3)	 f'k{k.k lgk;d	 (4)	 Qsjh okyk
144.	Jo.k ds 'kh"kZ v/kkseq[kh mikxe (VkWi Mkmu) esa D;k 'kkfey gS\

(1)	 lkexzh] okd~ ;k vkfM;ks ds lexz lans'k dks lquuk
(2)	 izR;sd /ofu] 'kCn] okD;ka'k] miokD; vkSj okD;ksa dks lquuk
(3)	 fof'k"V o.kZuksa dh vksj /;ku nsuk
(4)	 okd~] lkexzh ;k vkfM;ks ds lkjka'k (ftLV) dks lquuk

145.	vfnfr Hkwrdky ds fu;e tkurh gSA ijUrq lanHkZ ds vuqlkj mudk 
iz;ksx ugha dj ikrh gSA mlds ikl fdl izdkj dk Kku gS\
(1)	 ?kks"k.kkRed Kku	 (2)	 Kku dk vuqiz;ksx
(3)	 Hkk"kkk vtZu midj.k	 (4)	 izfØ;kRed Kku

146.	Ïik vkSj d.kZ tqM+ok¡ gS vkSj ef.kiqjh dh fo'ks"k cksyh cksyrs 
gSaA gkyk¡fd muds cksyus esa fofHkUurk gSA cksyh cksyus ds muds 
O;fDrxr fo'ks"k rjhds dks fdl :i esa tkuk tk,xk\
(1)	 okd~ fØ;k
(2)	 ef.kiqjh
(3)	 O;fDr Hkk"kk (vkbfM;ksySDV)
(4)	 cksyh

147.	vf'ou tUe ls gh mfM+;k Hkk"kk tkurk gSA mlus vaxzsth vkSj fganh 
Hkh i<+h gSA bl dFku ds vk/kkj ij irk ykxkb, fd dkSu-lk 
dFku lgh ugha gS\
(1)	 mldk vaxzsth vf/kxe Hkk"kk vf/kxe gSA
(2)	 mldk vaxzsth vf/kxe Hkk"kk vtZu gSA
(3)	 mldk mfM+;k vf/kxe Hkk"kk vtZu gSA
(4)	 mldk fganh vf/kxe Hkk"kk vf/kxe gSA

148.	d{kk vkB ds v/;kid lqHkk"k dks dbZ ckj nq[k gksrk gS fd Hkk"kk 
vkdyu xzká'khy (fjlsfIVo) dkS'kyksa dks egRo ugha nsrk gSA 
xzká'khy dkS'kyksa ls mudk D;k rkRi;Z gS\
(1)	 Jo.k vkSj iBu	 (2)	 cksyuk vkSj ys[ku
(3)	 Jo.k vkSj ys[ku 	 (4)	 cksyuk vkSj iBu

149.	;gk¡ ,d ikB; lkexzh nh xbZ gSA irk yxkb, fd ;g ikB; lkexzh 
Hkk"kk dh fdl iz;qfDr (jftLVj) ls lacaf/kr gS\

	 ßvpkud] ØkfUr ds ckn] ,slk laHko yxus yxkA fd cnykx 
vk,xkA fo'o ds dbZ Hkkxksa esa ;gk¡ rd fd ;wjksi vkSj ,f'k;k esa 
Hkh O;fDr ds vf/kdkjkssa ds ckjs esa u,-u, fopkj lkeus vkus yxs 
vkSj ftuds fu;U=.k esa lkekftd lÙkk Fkh] mudh Hkh ppkZ gksus 
yxhA Hkkjr esa jktk jke eksgu jk; vkSj fnjksft;ks us ÝSap ØkfUr ds 
egRo ds ckjs esa ckr dhA lkekftd ifjorZu ds bu fopkjksa dks 
,d u;k Lo:i fn;k x;kAÞ	
(1)	 lkekftd foKku iz;qfDr	 (2)	 ØkfUr iz;qfDr
(3)	 foKku iz;qfDr	 (4)	 jktuhftd iz;qfDr

150.	;kaf=d (baLVªesaVy) izsj.kk dc gksrh gS\
(1)	 tc dksbZ O;fDr visu leqnk; ds /kkfeZd vkSj lkekftd 

mRloksa (dk;ksaZ) ds fy, Hkk"kk lh[krk gS
(2)	 ,d O;fDr iqLrd fy[kus ds fy, Hkk"kk lh[krk gSA
(3)	 tc dksbZ O;fDr mi;ksfxrk ds dkj.k ls Hkk"kk lh[krk gS] tSls 

fd jkstxkj ds fy,A
(4)	 tc dksbZ O;fDr fdlh Hkk"kk dks blfy, lh[krk gS] ftl ls 

fd og ml Hkk"kk ds lgtkr oDrk ds utnhd vk ldsA
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1.	 Option (3) is correct.
Explanation: Jean Piaget viewed 
egocentric speech as a sign of 
cognitive immaturity in children. He 
believed it reflected their inability to 
see things from another's perspective. 
Lev Vygotsky, in contrast, saw private 
speech as a tool for self-regulation. 
He believed children use it to guide 
their thinking and actions, eventually 
internalising it as silent inner speech.

2.	 Option (1) is correct.
Explanation: An inclusive classroom 
aims to create a learning environment 
where all students, regardless of 
their abilities or backgrounds, feel 
welcome and supported. Teachers in 
inclusive classrooms often modify their 
curriculum and teaching methods to 
meet the diverse needs of their students. 
This might involve using different 
instructional materials, providing extra 
support for struggling students or 
challenging advanced students with 
more complex tasks.

3.	 Option (4) is correct.
Explanation: The assertion (A) is 
true. Class inclusion is the ability to 
understand that a smaller category 
(like Delhi) is included in a larger 
category (like India). Lokesh's 
difficulty with this concept suggests 
a lack of understanding of class 
inclusion.
However, the reason (R) is not 
directly related to the assertion (A). 
While understanding how emotions 
affect memory and learning can be 
important for self-regulated learning, 
it doesn't directly explain Lokesh's 
difficulty with class inclusion.

4.	 Option (1) is correct.
Explanation: Analytical thinking 
questions require students to break 
down complex information into 
smaller parts, examine relationships 
between different parts and draw 
conclusions based on their analysis. 
Option (1) asks students to consider 
the various factors that contributed to 
the outbreak of World War II, which 
requires them to analyse the historical 
context and make connections 
between different events.

5.	 Option (4) is correct.
Explanation: Performance goal 
orientation focuses on demonstrating 
competence and outperforming 
others. Students with this orientation 
are motivated by grades, rankings 
and external validation. "Option 
(4) reflect" clearly this by stating the 

student aims to "get a good grade and 
be better than others."

6.	 Option (2) is correct.
Explanation: Both the assertion 
that curriculum adaptations in 
inclusive classrooms should lower 
educational standards for "special 
children" and the reason that these 
children have no learning potential 
in mainstream classrooms are false. 
Inclusive classrooms aim to provide 
support and accommodations so all 
students, including those with special 
needs, can access the curriculum 
and reach their full potential. 
Lowering standards hinders this 
goal, and it's crucial to recognise that 
"special children" absolutely possess 
the potential to learn and thrive in 
mainstream settings with appropriate 
support and individualised instruction.

7.	 Option (3) is correct.
Explanation: Howard Gardner's 
theory of multiple intelligences 
challenges the traditional view of 
intelligence as a single, general ability. 
He proposes that there are multiple 
types of intelligence, such as linguistics, 
logical-mathematical, spatial, musical, 
bodily-kinesthetic, interpersonal and 
intrapersonal. A key aspect of his 
theory is that these intelligences are not 
fixed but can change and develop over 
time through experiences and learning.

8.	 Option (3) is correct.
Explanation: Vygotsky believed that 
language plays a crucial role in shaping 
thought. He saw language as a cultural 
tool that helps children internalise 
knowledge, develops higher-order 
thinking skills and regulates their 
behaviour. This contrasts with 
Piaget's view of language as primarily 
egocentric. Vygotsky emphasised 
the social nature of language and its 
importance in cognitive development.

9.	 Option (2) is correct.
Explanation: Psycho-social development 
encompasses the changes in an 
individual's emotions, self-concept and 
social interactions. This includes how 
they perceive themselves, manage 
their emotions and build relationships 
with others. The question mentions 
changes in these areas, making 
psycho-social development the most 
fitting domain.

10.	 Option (2) is correct.
Explanation: Both the assertion and 
reason are false.
Creating a classroom environment 
filled with fear and stress is detrimental 
to learning. Students need a safe, 
supportive environment where they 
feel comfortable taking risks and 

making mistakes. Excessive stress 
hinders cognitive processes and can 
lead to anxiety, disengagement and a 
negative association with learning.
Learning is influenced by both intrinsic 
and extrinsic factors. Intrinsic motivation 
(curiosity, interest, enjoyment) plays a 
crucial role in meaningful learning. While 
extrinsic factors (grades, rewards) can 
have a temporary impact, they are not 
the sole drivers of learning.

11.	 Option (1) is correct.
Explanation: Meaningful learning 
occurs when students connect 
new information to their existing 
knowledge and experiences. By 
asking students to share their own 
experiences and relate them to the 
topic, the teacher encourages active 
engagement and helps students 
construct their understanding of the 
new material. This approach fosters 
deeper processing and promotes 
analytical thinking by encouraging 
students to make connections and 
draw comparisons.

12.	 Option (1) is correct.
Explanation: Encouraging persistence 
and providing scaffolding are effective 
strategies for developing problem-
solving skills.
Encouragement helps build resilience 
and a growth mindset.
Scaffolding involves breaking down the 
problem into smaller, more manageable 
steps, providing hints or prompts and 
gradually fading support as Kakuli 
gains confidence. This allows her to 
actively engage with the problem and 
develop her strategies.
Punishment is harmful and counter-
productive. Giving the solution or  
telling her to skip the problem prevents 
Kakuli from developing the neces-
sary skills to tackle challenging tasks  
independently.

13.	 Option (3) is correct.
Explanation: Metacognition refers to 
the ability to think about one's own 
thinking. It involves being aware 
of your own learning processes, 
strengths and weaknesses. Fiza is 
demonstrating metacognition by 
analysing her learning experiences 
with topics X and Z. She recognises 
that her interest and attention play 
a role in her learning effectiveness. 
This awareness of her own cognitive 
processes is a key characteristic of 
metacognition.

14.	 Option (2) is correct.
Explanation: Universal Design for 
Learning (UDL) aims to create inclusive 
learning environments that cater to 
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the diverse needs of all learners. It 
emphasises providing multiple means 
of:
Engagement: Tapping into learners' 
interests, offering appropriate challenges 
and promoting motivation.
Representation: Presenting information 
in various formats (visual, auditory 
textual) to accommodate different 
learning styles.
Action and Expression: Allowing 
students to demonstrate their learning 
in diverse ways (e.g., writing, speaking, 
drawing, building).
Labelling and categorising learners 
goes against the principles of UDL. It 
can create stigma, limit expectations 
and hinder students' potential. UDL 
focuses on providing flexible and 
individualised support to all learners, 
regardless of perceived.

15.	 Option (1) is correct.
Explanation: While individuals 
with autism exhibit a wide range of 
strengths and challenges, a common 
characteristic is a preference for routine 
and predictability. This can manifest 
as strict adherence to specific routines, 
rituals, or sequences of steps. This 
preference often stems from difficulties 
with processing sensory information 
and navigating social situations, 
making predictable routines feel safe 
and comforting.
It's important to remember that 
autism is a spectrum disorder, and 
not all individuals will exhibit all 
characteristics. However, a strong 
preference for routine is a relatively 
common trait among individuals with 
autism.

16.	 Option (2) is correct.
Explanation: Reciprocal teaching 
is an instructional strategy where 
students take on the role of the 
teacher by leading discussions and 
asking questions. It involves four key 
strategies: summarising, questioning, 
clarifying and predicting. This 
approach encourages active learning, 
collaboration and metacognitive 
skills.

17.	 Option (2) is correct.
Explanation: Diagnostic assessments 
are designed to identify students' 
strengths and weaknesses of a 
particular area. The primary goal is to 
pinpoint areas where students may 
be struggling and need additional 
support. This information helps 
teachers tailor instruction to meet 
individual needs and provide targeted 
interventions.

18.	 Option (3) is correct.
Explanation: Both the assertion 
and reason are true, and the reason 
explains the assertion.
Amana's fear and anxiety when asked 
to answer math problems are likely 
due to a sense of feeling unsafe in the 
classroom. The fear of being scolded 
or embarrassed creates a negative 
emotional response that hinders her 
learning.

Research shows that when students 
feel unsafe or anxious, their ability to 
learn is significantly impaired. Stress 
and anxiety interfere with cognitive 
processes, such as attention, memory 
and problem-solving.
In this case, Amana's fear of negative 
consequences is creating an unsafe 
learning environment that directly 
contributes to her difficulties with 
math.

19.	 Option (1) is correct.
Explanation: Progressive education 
emphasises a learner-centered approach 
that focuses on the whole child. It 
values active learning, real-world 
experiences and social and emotional 
development.
Option (1) aligns with progressive 
education's belief that children's 
development is influenced by their 
social, cultural and economic contexts. 
This understanding encourages 
educators to create inclusive learning 
environments that consider students' 
diverse backgrounds and experiences.

20.	 Option (4) is correct.
Explanation: Open-ended questions 
encourage students to think deeply, 
analyse information and generate 
their own ideas and solutions. This 
type of questioning promotes:
Critical thinking: Students need 
to evaluate information, consider 
different perspectives and form their 
own judgments.
Creative thinking: Students are 
encouraged to think outside the box, 
explore possibilities and come up 
with original solutions.

21.	 Option (3) is correct.
Explanation: Braille is a tactile system 
of reading and writing for visually 
impaired individuals. It uses raised 
dots to represent letters, numbers and 
symbols. Students who are visually 
challenged can use their sense of 
touch to read Braille materials.

22.	 Option (1) is correct.
Explanation: The assertion (A) is true 
independently, but reason (R) is false.
Assertion (A): Children naturally 
seek out opportunities to play, explore 
and learn about the world around 
them. This is an essential part of their 
development.
Reason (R): Childhood is not 
universally construct. However, they 
are socially constructed concept that 
varies across cultures and time periods.

23.	 Option (2) is correct.
Explanation: Vygotsky's sociocultural 
theory emphasises the importance of 
social interaction and cultural tools in 
learning. Reciprocal teaching aligns 
with this perspective by:
Promoting collaboration: Students 
work together and learn from each 
other.
Encouraging active learning: Students 
take on the role of the teacher, leading 
discussions and asking questions.
Developing higher-order thinking: 
Students engage in summarising, 
questioning, clarifying and predicting.

24.	 Option (1) is correct.
Explanation: Effective concept 
teaching involves presenting examples 
and non-examples to illustrate the 
concept's key features and boundaries. 
It also encourages students to connect 
the new concept with their existing 
knowledge, fostering a deeper 
understanding and application. 
Simply memorising a definition 
without exploring these connections 
can lead to superficial learning.

25.	 Option (3) is correct.
Explanation: Vygotsky's sociocultural 
theory emphasises the social nature 
of learning. He believed that cognitive 
development occurs through 
interactions with others, particularly 
more knowledgeable individuals, within 
a social and cultural context. This 
collaborative process allows children 
to internalise knowledge and develop 
higher-order thinking skills.

26.	 Option (1) is correct.
Explanation: Kohlberg's theory 
of moral development uses 
hypothetical moral dilemmas 
to assess an individual's stage of 
moral reasoning. These dilemmas 
present conflicting situations where 
individuals must make a decision 
and justify their choice. This method 
allows researchers to analyse the 
reasoning behind the choices, rather 
than simply the choices themselves.

27.	 Option (4) is correct.
Explanation: Assessment for learning 
focuses on using assessment as a 
tool to improve student learning 
and understanding. A quiz and 
brainstorming activity at the start of 
the class helps identify students' prior 
knowledge, allowing the teacher 
to adjust instruction and address 
any misconceptions before moving 
forward. This approach promotes 
active engagement and provides 
valuable feedback to both the teacher 
and the students.

28.	 Option (2) is correct.
Explanation: Both the assertion 
and reason are false. Research 
suggests that social and cultural 
factors influence the development 
of both boys and girls, not just girls. 
Additionally, the claim that girls 
are genetically more sensitive and 
emotionally weaker is not supported 
by scientific evidence. Gender 
differences in behaviour are complex 
and influenced by various factors 
including socialisation and cultural 
expectations. It's important to avoid 
generalizations and stereotypes 
about gender. 
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29.	 Option (4) is correct.

Explanation: Piaget believed that 
children actively construct their 
understanding of the world through 
experiences and interactions. He 
proposed that learning experiences 
should be tailored to a child's current 
cognitive level to be effective. As 
children mature and develop, 
their capacity for learning and 
understanding also expands.

30.	 Option (3) is correct.
Explanation: Gender roles are the set 
of societal expectations about how 
individuals should behave, think and 
feel based on their assigned gender. 
These roles are shaped by cultural 
norms and values and can vary 
significantly across different societies. 
They are not determined by genetics. 

Mathematics and Science
31.	 Option (4) is correct.

Explanation: Sum of all interior 
angles of a pentagon = 540°
Þ	 2x + 9° + 2x + 1° + 2x – 1° + 2x 
� + 5° + 2x – 4° 
			  = 540°
Þ		  10x + 10°	= 540°
Þ		  10x	= 530°
Þ		  x	= 53°
Now, 	 2x + 10°	= 2(53°) + 10°
			  = 106° + 10°
			  = 116°
So, the value of (2x + 10°) is 116°.

32.	 Option (4) is correct.
Explanation: Corresponding angles 
are equal 
Þ		  3x – 20°	= 5x – 60°
Þ		  40°	= 2x
Þ		  x	= 20°
So, 		  4x + 30°	= 4(20°) + 30°
			  = 80° + 30° = 110° 

33.	 Option (3) is correct.
Explanation: A cumulative record is 
used to track and record a student's 
progress over time, including 
their abilities in problem-solving, 
measurement and experimentation. 
It provides a comprehensive view of 
a student's overall development and 
performance in various areas.
Anecdotal record is used for noting 
down observations and informal 
records about a student's behaviour 
or performance.
Teacher diary is typically a personal 
record for the teacher to reflect on 
their teaching experiences.
Report card primarily focuses on 
grades and academic performance, 
rather than documenting specific 
abilities.

34.	 Option (3) is correct.
Explanation: Number 565x9274y is 
divisible by 88.
So, it must be divisible by both 8 and 11
For the number to be divisible by 8, 
last three digits must be divisible by 8.
Þ	 74y must be divisible by 8
Þ		  y	 = 4�
[744 is the 3-digit number divisible by 8]
now, 5 + 5 + 9 + 7 + y 
			   = 26 + y = 26 + 4 
			   = 30

and 6 + x + 2 + 4	= 12 + x
Now difference between 30 and  
(12 + x) must be divisible by 11.
Þ	 30 – (12 + x)	= 11
Þ		  18 – x	 = 11
Þ		  x	 = 7
Now, 	 2x + 3y	 = 2(7) + 3(4) 
			   = 14 + 12 = 26

35.	 Option (1) is correct.

Explanation:  
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36.	 Option (2) is correct.
Explanation: At the elementary 
level, it's important to introduce 
mathematical concepts with concrete 
examples and hands-on activities (like 
objects, visual aids or manipulatives) 
before moving to more abstract 
concepts. This approach helps 
students build a strong foundational 
understanding before working with 
abstract symbols and operations 

37.	 Option (2) is correct.
Explanation: The professional value of 
mathematics refers to how essential 
mathematical skills and knowledge 
are in various occupations and 
professions. Occupations like 
accountancy, banking, shop-keeping, 
and tailoring require mathematics 
either directly or indirectly to carry 
out essential tasks. For example:
1. �Accountants use mathematics for 

financial analysis, budgeting and 
preparing tax returns.

2.� �Bankers apply mathematical 
concepts for managing loans, 
interest calculations, and financial 
transactions.

3. �Shop-keepers use mathematics for 
inventory management pricing, 
and sales calculations.

4. �Tailors use geometry and 
measurements to create patterns, 
adjust sizes and ensure precise 
fittings.

In each case, mathematics is not 
just a theoretical subject but a vital 

tool for solving practical problems 
and performing professional tasks 
effectively and efficiently. This 
demonstrates the professional value 
of mathematics in the workplace.

38.	 Option (2) is correct.
Explanation: Here, ÐAOC = x 

C D

A O B

and 		  ÐBOD	 = 3x
Also, 	 ÐCOD	= 90°
Þ		 x + 90 + 3x	= 180	�

(Angles on a straight line)
Þ		  4x	= 90°
Þ		  x	= 22.5°
Since, 	 ÐBOD	= 3x =  3 × 22.5°
Hence,	 ÐBOD	= 67.5°

39.	 Option (4) is correct.
Explanation: 31096 ÷ (2704 ÷ 2)  
� + 0.6738 + 0.63 + 0.059 – 0.79
= 31096 ÷ 1352 + 0.6738 + 0.63 + 
0.059 – 0.79
= 23 + 0.6738 + 0.63 + 0.059 – 0.79
= 24.3628 – 0.79
= 23.5728

40.	 Option (2) is correct.
Explanation: Rational numbers lying 

between: − −7
10

1
4

and

LCM of 10 and 4 = 20

Þ 
−7
10  

= −14
20  

= 
−84
120  

and 
−1
4  

= 
�

�
�5

20
30

120
Þ In option (2), LCM of 8, 3 and 5 = 
120

Þ 
5
8−  

= 
−75
120

Þ 
−2
3  

= 
−80
120

Þ 
−3
5  

= 
−72
120

Thus, 
− − −5
8

2
3

3
5
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− −7
10

1
4

and

41.	 Option (4) is correct.
Explanation: First, let's calculate the 
square root of 2605

2605
Quotient= 51 and Remainder= 4 
Perfect square less than 2605 is  
2605 – 4 = 2601
So,the smallest number x which is to 
be subtracted from 2605 is 4.
Now, (4x+7) = (4× 4 + 7) = 16+7= 23.
Hence, the value of (4x + 7) is 23.

42.	 Option (2) is correct.
Explanation: CP of article	= ̀  750
		  SP of article	 = ̀  608

Þ 		  MP MP� �
dis%
100 	

= 608
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Þ 		  MP MP� �
24

100 	
= 608

Þ 		  76
100

MP
	
= 608

Þ 	                               MP = 608
100
76

×

Þ 		  MP 	= 800
If it had been sold at MP then profit 
		  = ̀  50

Profit%	= 
50

750
100×

 
= 6.66% = 6

2
3

%

43.	 Option (4) is correct.
Explanation: In Parallelogram PQRS,
		  PQ	= RS
Þ		  4x + 1	= 25
Þ		  4x	= 24
Þ		  x	= 6
And 	 QR	= PS
Þ		  26	= 3y – 1
Þ		  27	= 3y
Þ		  y	= 9
Putting the value of x and y in  
(3x + 2y) cm
3x + 2y = 3(6) + 2(9) = 18 + 18 = 36
So, (3x + 2y) = 36 cm

44.	 Option (2) is correct.
Explanation: Volume of solid cube = 
n × volume of small cubes
Þ		  (A)3	= n × (a)3

Þ		  (12)3	= n × (4)3

Þ		  1728	= n × 64

Þ		
1728

64 	
= n, 

So, 		  n	= 27
The surface area of each small cube is:
Surface area of one small cube 
			  = 6 × (4)²
			  = 6 × 16 = 96 cm²
Since, there are 27 small cubes, the 
total surface area of all small cubes is:
Total surface area of small cubes = 27 
× 96 = 2592 cm². Now  on comparing 
total surface area of original cube and 
new cube we have,
Total surface area of the original cube 
= 864 cm².
Total surface area of the small cubes 
= 2592 cm².
So, the relation is:
Total surface area of small cubes 
= 3 × Surface area of the original cube

45.	 Option (2) is correct.
Explanation: In triangle AED, 
		  AE2 + ED2	 = AD2

		  (12)2 + (ED)2	 = (13)2

Þ		  ED	 = 5 cm 
Similarly, 	 FC	 = 5 cm
Þ		  EF	 = AB = 14 cm

A B

CD

13 cm
12 cm

24 cm

13 cm

E F

Area of trapezium 

= 
1
2
× (Sum of parallel sides) × height

Þ Area of trapezium 

= 
1
2
× (AB + CD) × 12 cm

Þ Area of trapezium 

= 
1
2

14 24 12� � �( )

Þ Area of trapezium = 38 × 6 
		  = 228 cm2 

46.	 Option (2) is correct.
Explanation: Number line is a highly 
effective tool for visualising the 
addition of integers, making it one of 
the best way to teach this concept.
Stairs provide a physical 
representation of moving up 
(positive) or down (negative), 
which can be a helpful analogy for 
understanding integer addition.
Lift can also be useful in 
demonstrating the idea of moving up 
and down, which connects to adding 
positive and negative integers.
Chart paper, while useful for 
displaying information or illustrations, 
doesn't directly support the conceptual 
understanding of adding integers in 
the same way the other options do. It 
may be more of a tool for presentation 
rather than a hands-on method of 
understanding the concept.

47.	 Option (4) is correct.
Explanation: Given numbers are 
1, 0, 2, 4, 0, 3, 1, 1, 2, 4, 1

Mean =
 

Sum of observation
Number of observation

= 
1 0 2 4 0 3 1 1 2 4 1

11
+ + + + + + + + + +

 

= 
19
11

	 Mode	 = 1
(Maximum frequency)

According to the question, 
difference of Mean and Mode is

Mean–Mode = 
19
11

1−
 
= 

19 11
11
−

			 
= 

8
11

48.	 Option (4) is correct.
Explanation: Reflection: The 
transformation where a figure is 
flipped over a line, like a mirror 
image. (Keyword: flip)
Rotation: The transformation where 
a figure is turned around a point. 
(Keyword: turn)
Translation: The transformation where 
a figure is moved (slide) without 
rotation or flipping. (Keyword: slide)
Enlargement: The transformation 
where a figure is scaled up or down in 
size. (Keyword: bigger figure)

49.	 Option (2) is correct.
Explanation: Course of Action 
I: Providing hands-on and 
visual practice helps Anamika to 

understand the concepts better 
by enabling her to visualise and 
practically engage with the problems. 
This is particularly effective in a topic 
like mensuration, which deals with 
spatial understanding.
Course of Action II: Allowing 
discussions and using open-ended 
questions encourages critical 
thinking and helps Anamika to clarify 
her doubts, thereby addressing her 
conceptual errors.
Both strategies are complementary 
and essential to support her learning 
effectively.

50.	 Option (1) is correct.
Explanation: Given,
		  A	 = 3x2 – 8x + 11
		  B	 = –2x2 + 12x
		  C	 = –4x2 + 7	
		  D	 = x2 – x – 11
Now, 	(A + B + C) – D	
= (3x2 – 8x + 11 – 2x2 + 12x – 4x2 + 7)  
� – (x2 – x – 11)
Þ		 A + B + C – D 
= (–3x2 + 4x + 18) – (x2 – x – 11)
Þ		 A + B + C – D	
= –4x2 + 5x + 29
Þ		  px2 + qx + r	 = –4x2 + 5x + 29
On comparing, 	 p	 = –4, q = 5, r = 29
Now, 	 p + q + r	 = –4 + 5 + 29 = 30

51.	 Option (1) is correct.
Explanation: Given, 	
		  P	 = ̀  8000, A = ̀  9500
Þ 		  S.I.	 = ̀  1500
We know that,

		  S.I.	 = 
P R T× ×

100

Þ 		  1500	 = 
P R T× ×

100
Þ 1500 × 100		  = 8000 × 7.5 × x
Þ 		  2.5 years	 = x
We know that,

		  A	 = P
R T

� ��
�
�

�
�
�1

100
Now for 2 years,

Þ 		  A	 = 8000 1
20

100

2

� ��
�
�

�
�
�

Þ 		  A	 = 8000
120
100

120
100

× ×

Þ 		  A	 = 11520
For the next 6 months

		  SI	 = 
P R T× ×

100

		  SI	 = 
11520 20 1

100 2
× ×
×

		  SI	 = 1152
Final amount after 2.5 years = 11520 
+ 1152 = ̀  12672

52.	 Option (4) is correct.
Explanation: 20pq2 + 4pq + 45pr2 
� – 60pqr – 6rp
= 20pq2 + 45pr2 – 60pqr + 4pq – 6rp
= 5p(4q2 + 9r2 – 12qr) + 2p(2q – 3r)
= 5p(2q – 3r)2 + 2p(2q – 3r)
= (2q – 3r)[5p(2q – 3r) + 2p]
= p(2q – 3r)(10q – 15r + 2)
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53.	 Option (3) is correct.

Explanation:  Assessment as 
learning actively involves students 
in the learning process through self-
assessment and peer assessment. It 
focuses on improving learning by 
encouraging students to reflect on 
their progress and take ownership of 
their learning.
The other options are incorrect 
because:
Assessment for learning includes 
feedback as a key component to guide 
and improve learning.
Formative assessment is conducted 
during the course, not after its 
completion and is used to improve 
teaching and learning, not just assign 
grades.
Summative assessment evaluates the 
outcomes after instruction but does 
not involve real-time instructional 
adjustments during teaching.

54.	 Option (4) is correct.
Explanation: The lecture method is 
a teacher-centered method where 
the teacher delivers content and 
explanations while students passively 
listen. It focuses on direct instruction 
and transmission of knowledge.
Other Methods:
Heuristic method: A student-centered 
method that encourages students to 
discover solutions themselves.
Group discussion method: A student-
centered approach where learners 
collaborate to solve problems or 
discuss topics.
Problem-solving method: A student-
centered approach focusing on 
active exploration and application of 
concepts to find solutions.

55.	 Option (4) is correct.
Explanation: 8.5 × 10–12 is in standard 
form as one non-zero digit must be on 
left side of decimal for any exponent 
to be in standard form.

56.	 Option (4) is correct.
Explanation: (1) ÐACB = 120° 

ÐABC  = 25°, AC = BC = 4 cm
We know that sum of three angles in a 
triangle is 180°.
	 ÐACB + ÐABC +  ÐBAC	= 180°
Or, 	 120° + 25°+   ÐBAC	= 180°
Or, 	 145°+   ÐBAC	= 180°
Or,                                 ÐBAC = 180° – 145°
So,  ÐBAC = 35°
Hence if two sides are equal , then the 
two angles opposite to the equal sides 
will also be equal.
But it is given that AC = BC = 4 cm 
and 
	 ÐABC	= 25°
	 ÐBAC	= 35°
So, this option is wrong.
(2) AB = 5 cm, BC = 6 cm, 
		 ÐABC = 130, ÐBAC = 25° 
We know that the sum of three angles 
in a triangle is 180°.
	 ÐABC + ÐBAC + ÐACB	 = 180°
Or,	 130°+ 25°+ ÐACB	 = 180°
Or, 	 155° + ÐACB	  = 180°
Or, 	 ÐACB = 180° – 155°
So, 	 ÐACB	 = 25°

We know that if two angles of a 
triangle are equal; then sides opposite 
to them are also equal.
But it is given that AB = 5 cm, 
BC = 6 cm.
So, this option is wrong.
(3) AB = 3 cm, BC = 4cm, AC = 7 cm
We know that sum of two sides of a 
triangle is always greater than the the 
third side.
But here, AB+ BC= AC
So, this option is wrong.

(4) AB = 8 cm, BC = 4 cm, 
	 ÐBCA = 90°, ÐABC = 60°
The sum of the angles in any triangle 
is always 180°.
ÐBCA = 90°, ÐABC = 60°
Or, ÐBAC= 180° − ÐABC − ÐBCA
Or, ÐBAC= 180° − (60° + 90°)
Or, ÐBAC= 180° − 150°
So, ÐBAC= 30°
We now know that we have a right 
triangle with angles 90°, 60°, and 30°, 
and sides AB = 8 cm, BC = 4 cm.
In a 30° – 60° – 90° triangle, the 
relationship between the sides is:
The side opposite the 30° angle is 
half the hypotenuse and The side 

opposite the 60° angle is 3
2  

times 

the hypotenuse.
Let’s use this relationship to check if 
the side lengths are consistent.
The hypotenuse AB is given as 8 cm.
The side opposite the 30° angle, BC, 
should be half the hypotenuse:
1
2

8×
 
= 4 cm.

This matches the given length of 
BC, so the side lengths are consistent 
with the 30° – 60° – 90° triangle rule.
So, this option is correct.

57.	 Option (1) is correct.
Explanation: Given numbers, 
	 2 < 7 < 9 < 12

Now, they are multiplied by 
−1
2

Þ	 –1, −7
2

,
 

−9
2

, –6 will be the new 

numbers
Thus, now they are in descending 
order
So, ascending order will now be 
changed to descending order is 
correct option.

58.	 Option (1) is correct.
Explanation: Prime numbers from 12 
and 71 = 13, 17, 19, 23, 29, 31, 37, 41, 43, 
47, 53, 59, 61, 67, 71 = 15
Total numbers from 
12 to 71 = 60�

P(prime number) = 15/60 = 
1
4

P (not prime number) = 
3
4

59.	 Option (4) is correct.
Explanation: Distance covered 
= Number of turns × circumference
Þ	 Distance covered 

= 350 2
22
7

25
100

× × ×

So,	 Distance covered = 550 m
60.	 Option (3) is correct.

Explanation: The ability to abstract 
and perceive relationship is crucial 
in mathematics as it reflects deeper 
understanding and problem-
solving skills, which are essential for 
mathematical reasoning.
Option 3: Applying mathematical 
concepts to real-life situations 
demonstrates practical understanding 
and the ability to connect mathematics 
with the real world, which is a key goal 
of learning mathematics.
Incorrect Options:
Option 2: Memorising formulas is less 
important than understanding their 
application and derivation.
Option 4: Scoring full marks is not 
a direct measure of capabilities; it 
focuses on outcomes rather than 
understanding or skill development

61.	 Option (3) is correct.
Explanation: (A) Insulin is the hormone 
that regulates carbohydrate, protein 
and fat metabolism.(B) The pancreas is 
the gland that secretes insulin.(C) Sugar 
in our diet can affect the pancreas' 
ability to function properly, influencing 
insulin production and regulation.

62.	 Option (1) is correct.
Explanation: Statement (A): It makes 
the partly digested food coming from 
the stomach alkaline.
This statement is true. Bile is alkaline 
in nature and when it is released 
into the small intestine, it helps 
neutralise the acidic chyme (partly 
digested food) that comes from the 
stomach. This creates an optimal pH 
environment for digestive enzymes 
to work effectively in the small 
intestine.
Statement (B): It helps in digestion of 
fats.
This statement is also true. Bile contains 
bile salts that are essential for the 
emulsification of fats. Emulsification is 
the process of breaking down large fat 
globules into smaller droplets, which 
increases the surface area for the 
enzyme lipase to act on, aiding in the 
digestion of fats.
Thus, both statements (A) and (B) are 
correct, making (1) Both (A) and (B) 
are true ,the correct option.

63.	 Option (1) is correct.
Explanation: The speed of sound 
in a medium depends on its 
density and elasticity. While sound 
typically travels slower in denser 
media, it also depends on how 
elastic or compressible the medium 
is. However, if the elasticity or 
compressibility of the media is similar, 
sound generally travels faster in a less 
dense medium because the particles 
are more easily displaced and 
transmit sound waves more quickly.
Given that, Medium C has the 
highest density, it may seem that 
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sound would travel slower, but since 
Medium A is less dense than C and 
more dense than B, Medium C is 
likely to have higher elasticity or 
other properties that allow sound to 
travel faster through it.
Thus, Medium C is likely where 
sound travels the fastest, and the 
correct answer is (1) C.

64.	 Option (1) is correct.
Explanation: Statement 1: "The 
normal temperature of the human 
body is 37 degree Celsius."
This is an observation, as it is a directly 
measurable fact.
Statement 2: "Heat flows from a body 
at a higher temperature to a body at 
lower temperature."
This is an inference, as it is a conclusion 
based on the principle of heat transfer 
derived from observations and 
scientific understanding.

65.	 Option (1) is correct.
Explanation: Due to latent heat 
of fusion, when the ice melts, its 
temperature remains the same.
When ice is heated at 0°C, it absorbs 
heat energy (called latent heat of 
fusion) to change its state from solid 
to liquid. However, the temperature 
does not increase until all the ice has 
melted. This is because the absorbed 
heat is used to break the bonds 
between the molecules, rather than 
increasing the temperature of the 
substance itself.
So, while the ice is melting, its 
temperature stays at 0°C until it has 
completely turned into water.

66.	 Option (1) is correct.
Explanation: This strategy 
encourages hands-on exploration, 
observation and questioning, which 
are core elements of inquiry-based 
learning. It allows students to interact 
directly with the phenomena, 
fostering curiosity and deeper 
understanding before introducing 
formal explanations.

67.	 Option (4) is correct.
Explanation: 

Atomic
number

Mass
number

No. of
electrons

No. of
protons

No. of 
neutrons

9 A B C 10

D 24 E 12 F

For atomic no. 9, 
		  No. of electrons	 = 9 (B)
		  No. of protons	 = 9 (C)
Þ		  Mass number	 = 19 (A) 	
	
�[Mass number = no. of protons + no. 
of neutrons]
Now, 	 if no. of protons	 = 12
Þ		  Atomic no.	 = 12 (D)
		  No. of electrons	

= no. of protons = 12 (E)
Also, 	 no. of neutrons	 = 12 (F)
Thus, A, B, C, D, E and F in order are 
19, 9, 9, 12, 12, 12 

68.	 Option (1) is correct.
Explanation: Statement (A) is false. 
Compounds DO NOT show properties 
of constituent elements or substances.
Statement (B) is false, elements 
and compounds can react to form 
compounds.
Statement (D) is false, since 
compounds can not be separated by 
physical and chemical methods.

69.	 Option (1) is correct.
Explanation: Assertion (A): "Convex 
mirrors are used as rearview mirrors 
in vehicles."
This statement is true. Convex mirrors 
are indeed used as rear-view mirrors 
in vehicles because they provide a 
wide field of view, allowing the driver 
to see more of the area behind the 
vehicle.
Reason (R1): "They form erect and 
enlarged image."
This statement is false. Convex mirrors 
always form erect and reduced 
(diminished) images, not enlarged 
images. They produce smaller images 
of objects, which is why they provide 
a wider field of view.
Reason (R2): "They have a wider field 
of view."
This statement is true. Convex mirrors 
have a wider field of view because 
their curved shape diverges light 
rays, allowing the mirror to capture 
and reflect a larger area compared to 
flat or concave mirrors.
Reason (R2) is correct, but it does not 
fully explain why convex mirrors are 
used as rear-view mirrors. The main 
reason for using convex mirrors is 
their ability to give a wide field of 
view, not because they form enlarged 
images.
Thus, the correct answer is (2) (A) is 
true but neither (R1) nor (R2) are the 
correct explanations for (A).

70.	 Option (1) is correct.
Explanation: Assertion (A): Nichrome 
is used as a heating element in devices 
like electric toaster and electric geyser. 
This is true because nichrome (an 
alloy of nickel and chromium) has 
properties that make it suitable for 
use as a heating element. It has good 
resistance to high temperatures and 
is durable in high-heat conditions, 
which is why it is used in heating 
devices.
Reason (R): Nichrome has high 
melting point and low resistivity. 
This is partly true. Nichrome does 
have a high melting point, which 
makes it resistant to melting at 
high temperatures, but it has high 
resistivity, not low resistivity. High 
resistivity is a key reason why 
nichrome is effective in generating 
heat when electric current passes 
through it.
So, reason is false.

71.	 Option (2) is correct.
Explanation: A. Stable: Children's 
ideas about the world are often 
stable and resistant to change, even 

when confronted with scientific 
explanations.
B. Observable phenomena: These 
ideas are usually formed from personal 
experiences or observable phenomena 
in their environment.
C. Developmental patterns: Children's 
thinking evolves in patterns that are 
often similar across individuals due to 
cognitive development stages.
D. They are easy to modify is incorrect 
because these ideas are typically 
resistant to change without targeted 
instruction or intervention
E. Domain-specific: Their ideas are 
usually specific to a particular domain, 
such as physics, biology, or chemistry.

72.	 Option (1) is correct.
Explanation: Assertion: Arteries have 
thick and elastic walls as compared to 
veins, is true.
Reason: The pressure of blood flow in 
arteries is low as compared to veins 
is false.
It's so because the pressure of blood 
flow in arteries is actually higher than 
in veins.
Arteries carry blood away from the 
heart and the blood pressure in 
arteries is high because it is pumped 
directly from the heart, which 
generates a significant force (systolic 
pressure). This high pressure helps to 
push the blood through the body to 
supply oxygen and nutrients.
Veins, on the other hand, carry blood 
back to the heart and the pressure 
in veins is much lower. The blood 
in veins moves more slowly and is 
assisted by muscle contractions and 
one-way valves to help it flow against 
gravity (especially in the lower body).
Thus, (A) is true, (R) is false.

73.	 Option (4) is correct.
Explanation: (B) Photosynthesis 
is a chemical change and also (D) 
Formation of curd from milk is a 
chemical change are correct
Photosynthesis: This is a chemical 
change because it involves the 
transformation of carbon dioxide and 
water into glucose and oxygen, with 
the help of sunlight and chlorophyll. 
The process changes the chemical 
composition of the substances 
involved, making it a chemical 
change.This shows the conversion 
of reactants (carbon dioxide and 
water) into products (glucose and 
oxygen), which indicates a chemical 
transformation.
Formation of curd from milk: This 
is also a chemical change because 
the bacteria in the milk (such as 
Lactobacillus) ferment lactose, the 
sugar in milk, converting it into lactic 
acid. This acid lowers the pH of the 
milk, causing proteins (like casein) 
to coagulate and form curds. The 
chemical composition of the milk 
changes, making it a chemical change.



28�  Oswaal CTET Year-wise Solved Papers
So, both photosynthesis and 
formation of curd from milk are 
indeed chemical changes 

74.	 Option (1) is correct.
Explanation: Since, speed of light 
decreases when entering from A to B, 
this implies that medium B is denser 
than A i.e., refractive index of B is 
greater than A.
Also, when speed of light increases 
when entering from B to C, this 
implies that medium B is denser than 
C i.e., refractive index of B is greater 
than C.
So, refractive index of A and C are less 
than B.

75.	 Option (3) is correct.
Explanation: The buoyant force on 
an object immersed in liquid acts in 
upward direction.
The buoyant force on an object 
immersed in a liquid acts in the 
upward direction due to Archimedes' 
Principle, which states that:
"An object submerged in a fluid 
experiences an upward buoyant 
force equal to the weight of the fluid 
displaced by the object."
Explanation:
1. �Pressure Difference: When an 

object is submerged in a liquid, 
the pressure at the bottom of the 
object is greater than the pressure 
at the top. This is because pressure 
increases with depth in a fluid.The 
difference in pressure creates an 
upward force on the object.

2. �Upward Force: The pressure at 
the bottom of the object pushes 
it upward, while the pressure 
at the top of the object pushes it 
downward. Since the pressure at 
the bottom is higher, the net force is 
in the upward direction.

76.	 Option (4) is correct.
Explanation: Zinc is more reactive 
than Iron but less reactive than 
Aluminium.
The reactivity series is as follows:
K   Na   Ca   Mg   Al   Zn   Fe   Sn   Pb   H   
Cu   Hg   Ag   Au
in Order of decreasing reactivity

77.	 Option (4) is correct.
Explanation: Projects allow students 
to apply creativity to scientific 
concepts, while portfolios provide a 
way to document and reflect on their 
artistic learning. Both encourage 
hands-on, creative expression and 
integration of art with science.

78.	 Option (2) is correct.
Explanation: Layering is a technique 
of vegetative propagation in which a 
part of the stem is pulled and buried 
in moist soil, such that the branch is 
still attached to the parent plant.

Jasmine is an example of a plant usually 
grown through this technique.

79.	 Option (1) is correct.
Explanation: S1 is true: Laws 
are generalizations; theories are 
explanations.
S2 is false: Laws are not inherently 
old, and theories are not always 
contemporary.
This statement is false. The age of 
a law or theory is not a defining 
characteristic. Laws and theories can 
both be developed at any point in 
time and new theories can arise even 
if older laws are already established. 
Theories evolve over time as new 
evidence is discovered, but they are 
not necessarily contemporary.
S3 is true: Laws are considered 
universal truths that are not subject to 
change under normal circumstances 
whereas for theories better 
explanations can be developed.

80.	 Option (2) is correct.
Explanation: Assertion (A): "Achieve-
ment in STEM related courses is influ-
enced by gender." This statement is 
false because, while historical data 
and studies suggest that gender may 
play a role in access to opportunities, 
societal factors, and biases, gender 
itself does not inherently determine 
achievement in STEM.Research in re-
cent years shows that, with equal op-
portunities, both genders can achieve 
similarly in STEM fields.
Reason (R): "Problem-solving strategies 
used by boys and girls are different." 
This statement is also false because, 
while there might be differences in 
the approaches to problem-solving 
based on individual personalities 
or educational influences, there 
is no clear evidence that boys and 
girls inherently use fundamentally 
different problem-solving strategies.

81.	 Option (4) is correct.
Explanation: They cannot use 
dissolved oxygen, they have large 
nostrils and they often come up to the 
water surface to breathe.
Thus, A, C and D are correct.

82.	 Option (4) is correct.
Explanation: Divergent questions 
are open-ended and encourage 
students to think creatively, explore 
possibilities and provide multiple 
answers or perspectives.
Option (4) invites students to 
imagine a scenario and discuss the 
consequences, leading to diverse and 
thoughtful responses.

83.	 Option (4) is correct.
Explanation: In this activity, 
students identify bar magnets 
through observation of behaviour, 

classification of objects (bar magnets 
vs. iron bars) and inferring based on 
properties like magnetic attraction or 
repulsion.

84.	 Option (2) is correct.
Explanation: (a) Large circular leaves 
– (iii) helpful in providing buoyancy
(b) Waxy coating – (i) helpful in 
protecting against decay.
(c) Stems have large tunnels and 
holes – (iv) helpful in staying afloat
(d) Ribbon like leaves – (ii) helpful in 
offering resistance to water currents

85.	 Option (4) is correct.
Explanation: Self-pollination can 
occur in both bisexual and unisexual 
flowers, i.e., in flowers having both 
male and female organs and in 
flowers where both male and female 
flowers are borne on the same plant 
respectively.
Cross-pollination can take place in 
both unisexual and bisexual flowers.
Both statements are false.

86.	 Option (1) is correct.
Explanation: A solid or liquid that 
vapourise on burning will give flame.

87.	 Option (1) is correct.
Explanation: Statement (A) Scientific 
ideas are not affected by cultural context 
is false. Scientific ideas can indeed 
be influenced by cultural, social, 
historical, and even philosophical 
contexts. Different cultures may 
prioritise certain types of scientific 
research or interpret data in unique 
ways. Furthermore, cultural factors 
can shape the questions scientists ask 
and how they apply their findings. 
For example, the development of 
scientific concepts like heliocentrism 
was influenced by the cultural context 
of the time.
Statement (B) is true: There is no single 
scientific method, as science involves 
various approaches like observation, 
experimentation, modelling, and 
analysis. 

88.	 Option (4) is correct.
Explanation: In test tube A: 
Na2CO3 + 2HCl ® 2NaCl + H2O + CO2
In test tube B: 
Ca(OH)2 + CO2 ® CaCO3 + H2O

89.	 Option (2) is correct.
Explanation: Soil with low water 
holding capacity has good aeration 
and high percolation rate.
Soil with low water holding capacity 
usually means that it is not able to 
retain water for long periods. This 
often occurs in sandy soils, which have 
larger particle sizes. Such soils tend 
to have good aeration because the 
larger particles create more space for 
air between them. The good aeration 
allows for proper oxygen exchange 
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in the soil, which is beneficial for root 
growth. High percolation rate means 
that water drains through the soil 
quickly. Soils with low water holding 
capacity (like sandy soils) typically 
have a high percolation rate because 
the large particles allow water to pass 
through easily.

90.	 Option (1) is correct.
Explanation: To score more marks in 
tests should not be the purpose of an 
open book assessment, as the primary 
aim is to test the understanding, 
encourage exploration and reduce 
fear rather than simply focusing on 
scoring higher marks.

Language-I: English
91.	 Option (4) is correct.

Explanation: Since colours have a 
deeper significance for home, and 
colours are in plenty, so it is important 
to pay attention to every detail and 
use colours imaginatively. This is 
because ‘every room reveals the 
personality of the occupant’. So, it is 
important to pay attention to every 
detail. 

92.	 Option (2) is correct.
Explanation: ‘To think out of the box’ 
means to think imaginatively using 
new ideas instead of traditional or 
expected ideas; Thus, ‘traditionally’ 
is not what the idiom connotes. 

93.	 Option (3) is correct.
Explanation: In the sentence, ‘Right 
use of colours actually helps you to 
create the spacious feeling’, actually 
is an adverb that means "really." 
Here, it modifies the verb ‘use’ – the 
use actually helps you create. While 
‘feeling’ is a noun, representing  an 
emotion or experience. 

94.	 Option (1) is correct.
Explanation: The relationship 
established in the pair “monotonous: 
dull” is that of synonyms; similarly, 
ambience means the character 
and atmosphere of a place and the 
synonym is aura. 

95.	 Option (3) is correct.
Explanation: The statement 'Colours 
if used creatively can give a perfect 
look to a room’ is correct. Statement 
B claiming that space is abundant 
nowadays is incorrect, as stated in 
the first paragraph that everything is 
abundant nowadays, except space. 
Statement B claiming that the right use 
of colours on walls and roof can make 
the room spacious is correct, as evinced 
in para 1. So, (A) and (C) are correct, 
while (B) is incorrect. 

96.	 Option (3) is correct.
Explanation: In the sentence, "spacious" 
refers to a feeling of openness. The 
opposite would be "cramped," which 
suggests a confined, small space. 
Hence, "cramped" is the word that 
contrasts with "spacious," indicating 
limited space.

97.	 Option (4) is correct.
Explanation: As per the first 
paragraph, everything is abundant 
nowadays , except space, which can 
be enhanced through the correct use 
of colours. Space is something people 
are craving for. 

98.	 Option (4) is correct.
Explanation: Some people draw 
colourful sceneries on their home walls 
to bring nature into their homes. The 
reason behind drawing images of 
flowers, leaves and birds or sceneries 
on the walls of a home is to bring the 
outside within the home. 

99.	 Option (4) is correct.
Explanation: As suggested by the 
author in para 2 , a way to break the 
monotony of the room, one must 
choose blending light and dark 
shades of colour instead of a plain 
monotonous tone. One can also opt 
for lighter shades in two walls. So, (1) 
is correct, not (2). 

100.	 Option (1) is correct.
Explanation: The poetic devices 
used in “The squat pen rests; snug 
as a gun” is a simile. A simile  is a 
rhetorical device used to compare 
two things (typically using the words 
“like,” “as” or “than”). Here, a squat 
pen is compared to a gun with the 
help of the conjunction ‘as’. The 
poetic devices used in “When the 
spade sinks into gravelly ground” 
is personification. Personification 
is a figure of speech that is used to 
attribute human characteristics to 
something that is not human. Here, 
the spade is given a human ability of 
singing. 

101.	 Option (1) is correct.
Explanation: In the line “Loving their 
cool hardness in our hands” the 
preceding line refers to ‘new potatoes 
that we picked’. So, the correct 
answer is the potatoes. 

102.	 Option (2) is correct.
Explanation: The poem involves 
the act of digging, the poet recounts 
the physical labour involved and he 
recollects the time spent watching his 
father dig and the labour that went 
into it. He is full of awe and admiration 
for his father and the efforts that he 
put in. thus, the tone of the passage is 
: nostalgic and admiration. 

103.	 Option (2) is correct.
Explanation: The relationship estab-
lished in the pair “coarse: rough” is that 
of synonyms; similarly, snug means 
comfortable, warm and cosy and the 
synonym is comfortable. 

104.	 Option (3) is correct.
Explanation: The poem involves the 
act of digging and the poet recollects 
the time spent watching his father 
dig and the labour that went into it. 
The poem doesn’t make it clear if the 
father approved of or was ambivalent 
towards the choice of career of his 
son. 

105.	 Option (4) is correct.
Explanation: In the second stanza, the 
poet is observing his father digging 
potatoes. Here, the poet observes 
his father work on the potato field , 
which takes him back in time to when 
his father was doing the same work 
years ago. 

106.	 Option (1) is correct.
Explanation: A legal register is a 
document that lists all the laws 
and regulations that a business 
must comply with to avoid legal 
consequences. A scientific register 
covers  topics such as medicine, 
astronomy and geometry. A political 
register involves a formal list or 
record related to political activities, 
such as voter registration, the list of 
political parties, or records of elected 
officials. The social science register is 
often used to describe and analyse 
social structures, historical events and 
ideas related to society, politics and 
culture, which aligns with the content 
of the text. Thus, the description 
of equal rights as laid in the Indian 
Constitution will be mentioned in the 
legal register. 

107.	 Option (3) is correct.
Explanation: A dialect is a variation in 
a language and may include different 
ways of pronouncing a word, different 
spellings, or different choices of words. 
The correct statement out of all the 
options is : Dialects vary from region 
to region. A dialect may have distinct 
features of pronunciation, grammar, 
vocabulary and usage that sets it apart 
from another dialect of another region. 

108.	 Option (2) is correct.
Explanation: Receptive skills are the 
ability to understand and receive 
language through listening and 
reading. So, listening and reading is 
correct. 

109.	 Option (2) is correct.
Explanation: The declared Classical 
languages (Sashtriya Bhasa) of the 
Republic of India: Assamese, Bengali, 
Kannada, Malayalam, Marathi, Odia, 
Pali, Prakrit, Sanskrit, Tamil and 
Telugu. So, Hindi is not a classical 
language. 

110.	 Option (3) is correct.
Explanation: Proficiency assessment 
measures the ability to use language 
in real-world contexts and situations. 
A diagnostic test is designed to 
identify a learner's specific areas of 
strength and weakness, helping to 
pinpoint where further instruction 
or practice is needed. A portfolio 
is a compilation of academic and 
professional materials that exemplifies 
your beliefs, skills, qualifications, 
education, training and experiences. 
Comprehensive assessment entails 
the whole system of assessing student 
understanding as a mechanism to 
improve teaching and learning. It is 
used for school-based evaluation of 
pupils in which their assessment is 
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done on a continuous basis. So, the 
correct answer is: Portfolio. 

111.	 Option (1) is correct.
Explanation: Integrated learning 
skills are a holistic approach to 
learning that involves combining 
subjects, encouraging collaboration, 
and developing critical and creative 
thinking skills. Project work 
encourages students to apply various 
skills simultaneously. So, Project work 
is correct. 

112.	 Option (2) is correct.
Explanation: A good task involves a 
learning activity that helps students 
achieve certain educational goals. The 
correct answer is: it is not a good task 
because it lacks context as there is no 
input about desert and its conditions. 

113.	 Option (3) is correct.
Explanation: Learner understands 
and applies that language works as 
a system is Systemic competence. It 
is an ability to develop and maintain 
engagement with multiple members 
of the system. So, the correct answer 
is:  understanding and applying that 
language works as a system.  

114.	 Option (1) is correct.
Explanation: The teacher’s warm 
up activity to connect their previous 
knowledge and experience with the 
text they should read it in order to 
enable her students make predictions 
about the text that they would read. 

115.	 Option (4) is correct.
Explanation: The National Education 
Policy (NEP) 2020 of India outlines : 
Foreign language does not include 
in the three languages studied in the 
three-language formula; French is 
one of the languages recommended 
to be studied as an additional option; 
Study of foreign language as an 
additional option in the secondary 
stage. Thus, the option that is not 
true of the National Education 
Policy (NEP) 2020 is: Study of foreign 
language included as one of the 
three languages studied in the three-
language formula. 

116.	 Option (2) is correct.
Explanation: The discovery technique 
is a method of teaching in which 
students are not directly presented 
with a target grammatical structure 
or rule. Here, students are expected 
to 'discover' the grammar through 
a series of steps (these might 
be tasks, language awareness 
activities, pictures, questions, etc). 
In Consciousness-raising,  learners 
are allowed to notice the item and 
then divert their focus to discover 
the grammar rules as it is the process 
to raise something to consciousness 
which means to make learners aware 
of something. Schema is a mental 
structure to help us understand how 
things work. A deductive approach 
to teaching language starts by 
giving learners rules, then examples 
and then practice. It is a teacher-

centred approach to presenting new 
content. So, the correct answer is: 
Consciousness-raising method of 
teaching grammar. 

117.	 Option (2) is correct.
Explanation: Grammatical 
knowledge, in general, refers to 
knowing the rule of grammar 
application in reading text construction 
of verb form, word order and sentence 
structure. Strategic competence is the 
knowledge of how to use one's language 
to communicate intended meaning. 
Declarative Knowledge refers to facts 
or information stored in the memory, 
that is considered static in nature. 
Procedural Knowledge refers to how 
to perform a skill or task and is related 
to methods, procedures or operation 
of equipment. So, the correct answer 
is: Strategic competence. 

118.	 Option (4) is correct.
Explanation: A top-down listening 
process is a listening approach that 
focuses on looking at language as a 
whole rather than individual sounds, 
words and phrases. Top-down 
strategies focus on the 'big' picture and 
the general meaning of a listening text. 
The Bottom-up listening approach 
is text-based which helps students 
recognise lexical and pronunciation 
features to understand the text. The 
bottom-up approach focuses on the 
decipherment of the smallest units 
of language (such as sounds, words 
and sentences) to gradually build up 
to understanding the larger meaning 
of a text. 

119.	 Option (1) is correct.
Explanation:  Instrumental motivation 
refers to the drive to learn a language for 
practical purposes, such as achieving 
specific goals or obtaining certain 
rewards. Integrative motivation is 
characterised by positive attitudes 
toward the learning situation (teacher 
and course), positive attitudes toward 
the target language community, a 
desire to learn the language, interest 
in foreign languages in general 
and positive attitudes towards the 
learning process. Here, motivation 
for people going abroad for work and 
learning the language is instrumental 
motivation as they learn the language 
of the place for job opportunities. 

120.	 Option (1) is correct.
Explanation:  Authentic materials 
are those that are created for real-life 
purposes. They include newspapers, 
advertisements, brochures, videos, 
or any content that exists in the real 
world outside the classroom. These 
materials are often used in teaching 
to expose students to the language or 
content in its natural context.

Language-I: Hindi

91.	 fodYi (4) mfpr gSA
O;k[;kµlaLÏfr le; vkSj LFkku ds vuqlkj 
Lo;a esa ifjorZu ykrh gSA bl dFku dh iqf"V 

ds fy, fn, x, x|ka'k dh bl iafDr dks ns[kk 
tk ldrk gSµlaLÏfr vius LoHkko esa vknku-
iznku dh izfØ;k gS] ;g ges'kk xfr'khy jgrh gSA 

92.	 fodYi (3) mfpr gSA
O;k[;kµlkekftd-ewy 'kCn-lekt izR;;-
bd fu;e-ewy 'kCn ds igys o.kZ dk v-vk esa 
cny tkrk gSA

	 lekt ds igys o.kZ ^v dk vk* dh ek=k 
esa ifjofrZr gksus ls ^l dk lk* cu tkrk gSA 
(lk $ ekt $ bd = lkekftd)

93.	 fodYi (2) mfpr gSA
O;k[;kµlkaLÏfrd deZ-fo'ks"k.k-fo'ks"; 
laca/k] ekSf[kd ijaijk-fo'ks"k.k-fo'ks"; laca/k] 
izpfyr jhfr-fo'ks"k.k-fo'ks"; laca/kA vknku-
iznku foykse 'kCnksa dk ;qXe gSA

94.	 fodYi (4) mfpr gSA
O;k[;kµO;k[;k-ls-viknku] dj.k dkjd] 
ds fy,-laiznku dkjd] dh-laca/k dkjd ds 
fpÎ gSA rFkk-vO;; gSA

95.	 fodYi (3) mfpr gSA
O;k[;kµfn, x, x|ka'k esa f'k{kk dks eq[; 
fcUnq ds :i esa n'kkZ;k x;k gSA x|ka'k esa f'k{kk 
ds lanHkZ esa ;g dgk x;k gS fd f'k{kk lekt esa 
izpfyr ijaijkvksa] jhfr-fjoktksa dks tkjh j[kus 
ls igys muds vkSfpR; ds ckjs esa lkspus dh 
izsj.kk nsrh gSA

96.	 fodYi (1) mfpr gSA
O;k[;kµtc f'k{kk dks laLÏfr ls tksM+dj 
ns[kk tk, rc laLÏfr ij rjg-rjg ds izHkko 
iM+rs gSaA bl dFku dks x|ka'k esa bl izdkj 
lanfHkZr fd;k x;k gS fd f'k{kk ekSf[kd vkSj 
fyf[kr lkaLÏfrd ijaijk dh okgd Hkh gksrh gS 
vkSj fuekZ=h HkhA

97.	 fodYi (1) mfpr gSA
O;k[;kµx|ka'k esa f'k{kk dks lkaLÏfrd deZ 
ds :i esa ns[kk x;k gSA

98.	 fodYi (3) mfpr gSA
O;k[;kµf'k{kk laLÏfr dh fuek=h gS] D;ksafd 
og izpfyr laLÏfr esa dqN u;k tksM+dj] dqN 
iqjkuk gVkdj laLÏfr dk Lo:i cnyrh gSA

99.	 fodYi (2) mfpr gSA
O;k[;kµlaLÏfr vius LoHkko esa vknku-
iznku dh izfØ;k gS] ;g ges'kk xfr'khy jgrh gSA 

100.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, i|ka'k esa dye ls mu 
Lora=rk lsukfu;ksa dh t; djus dh ckr dh 
xbZ gS ftudh yydkj ls /kjrh Hkh lge tkrh gSA 

101.	 fodYi (1) mfpr gSA
O;k[;kµfnudj th us fuLokFkZ Hkko ls ns'k 
ij U;ksNkoj] gksus okys ohjksa dk xq.kxku fd;k 
gSA ftUgksaus viuk lc dqN cfynku djds 
dh Hkkouk tkxzr dh vkSj ubZ psruk QSykbZ 
rFkk ftUgksaus fcuk fdlh ewY; ds drZO; dh 
iq.;osnh ij Loa; dks U;ksNkoj dj fn;kA

102.	 fodYi (4) mfpr gSA
O;k[;kµfn, x, i|ka'k esa dye ls mu 
Lora=rk lsukfu;ksa dh t; djus dh ckr dh 
xbZ gS ftUgksaus g¡lrs-g¡lrs viuk lc dqN ns'k 
ij lefiZr dj fn;kA
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103.	 fodYi (1) mfpr gSA

O;k[;kµfo'ks"k.k-fo'ks"; laca/k] y?kq 
nhi-fo'ks"k.k-fo'ks"; laca/k] yky f'k[kk,¡-
fo'ks"k.k-fo'ks"; laca/kA ysfdu tyk vfLFk;k¡ 
esa fo'ks"k.k-fo'ks"; laca/k u gksdj fØ;k-deZ 
laca/k gSA ;gk¡ tyus dh fØ;k dk izHkko 
vfLFk;ksa ij iM+ jgk gSA

104.	 fodYi (3) mfpr gSA
O;k[;kµfn, x, i|ka'k esa dye ls mu 
Lora=rk lsukfu;ksa dh t; djus dh ckr dh 
xbZ gS ftUgkssaus g¡lrs-g¡lrs viuk lc dqN ns'k 
ij lefiZr dj fn;kA vr% ;gk¡ ns'kizse dh 
Hkkouk vfHkO;Dr gqbZ gSA

105.	 fodYi (2) mfpr gSA
O;k[;kµnh xbZ iafDr esa ^ftuus* 'kCn 
Lora=rk lsukfu;ksa dks bafxr dj jgk gSA Hkkjr 
ds ohj Lora=rk lsukfu;ksa us vktknh dh yM+kbZ 
esa u flQZ [kqn Hkkxhnkjh dh] cfYd leLr 
Hkkjrokfl;ksa dks Hkh bl yM+kbZ dk fgLlk cuus 
ds fy, izsfjr fd;kA mUgksaus Økafr dh Tokyk 
lqyxkdj nwljksa rd Hkh mldh fpaxkjh fNVdk 
nh FkhA

106.	 fodYi (4) mfpr gSA
O;k[;kµHkkjr dk lafo/kku fyax] tkfr] /
kez 'kSf{kd rFkk vkfFkZd i`"VHkwfe ds vk/kkj 
ij Hksn-Hkko ugha djrk gSA lafo/kku }kjk lHkh 
dks leku :i ls ns[kk tkuk lkekftd foKku 
iz;qfDr ds varxZr vkrk gSA

107.	 fodYi (3) mfpr gSA
O;k[;kµcksyh Hkk"kk dk vukSipkfjd ;k 
LFkkuh; Lo:i gS tks fdlh fo'ks"k {ks=] lekt 
;k leqnk; esa cksyh tkrh gSA Hkk"kk ds fofHkUu 
HkkSxksfyd] lkekftd ;k lkaLÏfrd :i dks 
cksyh dgk tkrk gSA Hkk"kk dh cksfy;k¡ ,d {ks= 
ls nwljs {ks= esa fHkUu-fHkUu gksrh gSaA

108.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk ds pkj dkS'ky gksrs gSaµlquuk 
(Jo.k)] cksyuk (okpu)] i<+uk (iBu) rFkk 
fy[kuk (ys[ku)A xzg.k'khy dkS'ky os gksrs 
gSa ftuls O;fDr esa Hkk"kk dks le>us vkSj xzg.k 
djus dh {kerk dk fodkl djuk gksrk gSA vr% 
Jo.k rFkk iBu dkS'ky xzg.k'khy dkS'ky dh 
Js.kh esa j[ks tkrs gSaA 

109.	 fodYi (2) mfpr gSA
O;k[;kµfdlh Hkh Hkk"kk dks 'kkL=h; Hkk"kk 
dk ntkZ fn, tkus ds fy, ml Hkk"kk dk bfrgkl 
1500-2000 o"kks± ls vf/kd iqjkuk gksuk pkfg,A 
Hkkjr ljdkj us laLÏr] rfey] rsyqxq] dUuM+] 
ey;kye rFkk vksfM'kk dks 'kkL=h; Hkk"kk dk 
ntkZ fn;k gSA fganh ,d O;kid :i ls cksyh 
tkus okyh Hkk"kk gS] fdUrq bldk fodkl eq[;r% 
10oha 'krkCnh ds ckn gqvk gSA bl dkj.k bls 
'kkL=h; Hkk"kk dk ntkZ ugha fn;k x;k gSA 

110.	 fodYi (3) mfpr gSA
O;k[;kµNk= iksVZQksfyvks ,d ,slk nLrkost 
gS ftlesa Nk= dh 'kS{kf.kd miyfC/k;k¡] dkS'ky] 
izxfr rFkk vf/kxe ds vU; mnkgj.kksa dk lrr 
:i ls fjdkMZ j[kk tkrk gSA 

111.	 fodYi (3) mfpr gSA
O;k[;kµjksy-Iys f'k{k.k i¼fr dk ,d ,slk 
rjhdk gS tks lesfdr vf/kxe dks leqUur djus 
esa izHkkoh Hkwfedk fuHkkrk gSA blds ek/;e ls 
fofHkUu fo"k;ks dks ,d lkFk tksM+k tk ldrk 
gSA ;g fo|kFkhZ dks lS¼kafrd Kku ds lkFk-lkFk 
okLrfod nqfu;k ls Hkh tqM+us dk volj nsrk gSA

112.	 fodYi (3) mfpr gSA
O;k[;kµfodYi 3 mfpr fodYi gS] D;ksafd 
jsfxLrku vkSj mldh tyok;q dh fLFkfr ij ik¡p 
okD; cksyus ds fy, fo|kFkhZ dks ml fo"k; dh 
Kku gksuk vko';d gSA vkSj ;g Kku f'k{kkfFkZ;ksa 
dks Hkwxksy dh fdrkc esa i<+s x, jsfxLrku laca/kh 
ikB ls fey ldsxkA ;g ikB mUgsa cksyus ds fy, 
leqfpr tkudkjh iznku djsxkA

113.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk dh lok±xh ;k flLVfed n{krk 
Hkk"kk dks O;ofLFkr vkSj oSKkfud :i ls lh[kus 
ij tksj nsrh gS ftlls Hkk"kk dk iz;ksx vfèkd 
lVhd vkSj izHkkoh gks tkrk gSA Hkk"kk ,d 
O;oLFkk ds :i esa dk;Z djrh gSA

114.	 fodYi (2) mfpr gSA
O;k[;kµokWeZ vi xfrfof/k dk mís'; f'k{kkfFkZ;ksa 
dks ubZ lh[k ds fy, ekufld :i ls rS;kj djuk 
vkSj ikB ls tqM+us esa enn djuk gksrk gSA ;g 
lh[kus esa #fp c<+krk gS vkSj lh[kus dh izfØ;k 
dks izklafxd] jkspd vkSj izHkkoh cukrk gSA ;gk¡ 
dgkuh dk fp= fn[kkdj f'kf{kdk f'k{kkfFkZ;ksa 
ds iwoZ Kku vkSj vuqHko dks ubZ tkudkjh ls 
tksM+us ds fy, fp= dks le>us dh {kerk 
fodflr dj jgh gSA

115.	 fodYi (1) mfpr gSA
O;k[;kµNEP 2002 esa rgr f=Hkk"kk lw= 
dks egRoiw.kZ LFkku fn;k x;k gSA blesa cPpksa 
dks rhu Hkk"kk,¡ lh[kus dk lq>ko fn;k x;k 
gSA ftlesa igyh ekr`Hkk"kk ;k dksbZ {ks=h; 
Hkk"kk] nwljh fganh ;k dksbZ vU; Hkkjrh; Hkk"kk 
vkSj rhljh vaxzsth ;k dksbZ vU; fons'kh Hkk"kk 
'kkfey gSA

116.	 fodYi (1) mfpr gSA
O;k[;kµ[kkst chu fof/k esa f'k{kkfFkZ;ksa dks 
;g Lora=rk nh tkrh gS fd os leL;k dks vius 
rjhds ls gy djus ds fy, fofHkUu lalk/kuksa dk 
iz;ksx djsaA ;g fof/k mUgsa lfØ; :i ls lh[kus 
esa enn djrh gS vkSj mUgsa Kku dk fuekZ.k djus 
dk volj nsrh gSA ;g ;qfDr ̂ lanHkZ esa O;kdj.k 
f'k{k.k* ls lEcaf/kd gSA

117.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk ds ckjs esa tkuus ds lanHkZ esa 
izfØ;kRed Kku dk vFkZ gS fdlh Hkk"kk dks 
tkuus vkSj iz;ksx djus ds rjhds] dkS'ky vkSj 
izfØ;kvksa dk KkuA ;g u dsoy 'kCnksa ds vFkZ 
le>us esa lgk;d gS] vfirq Hkk"kk ds lgh vkSj 
izHkkoh mi;ksx esa Hkh enn djrk gSA

118.	 fodYi (1) mfpr gSA
O;k[;kµJo.k vf/kxe esa VkWi Mkmu vkSj 
ckVe mikxe ,d lkFk dke djrs gSaA tc ge 
dksbZ /ofu] 'kCn ;k okD; dks lqurs gSa rc lcls 
igys mudks igpkurs gSa (ckVe vi) vkSj fQj 

lanHkZ ds vk/kkj ij mudk vFkZ fudyrs gSa (VkWi 
Mkmu)A

119.	 fodYi (4) mfpr gSA
O;k[;kµlekdyukRed izsj.kk ls Hkk"kk 
lh[kuk vR;ar izHkkoh vkSj LFkk;h rjhdk gSA 
yksx viuh #fp;ksa vkSj vko';drkvksa ds 
vkèkkj ij Hkk"kk lh[kus esa iz;kl vkSj le; 
yxkrs gS blls mUgsa vkRefo'okl vkSj Lora=rk 
dk vuqHko gksrk gSA fons'k tkus okys Hkkjrh; 
viuh vko';drk vkSj #fp ds vk/kkj ij ml 
LFkku dh Hkk"kk lh[krs gSaA

120.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk f'k{k.k esa lkexzh dh  
izkekf.kdrk dk vFkZ gS thou ds okLrfod 
lanHkksZ esa fodflr ;k fyf[kr lkexzh dk 
iz;ksx djukA ,slh lkexzh okLrfod thou dh 
fLFkfr;ksa] laokn vkSj xfrfof/k;ksa ls tqM+h gksus 
ds dkj.k vf/kd izHkkoh vkSj mi;ksxh gksrh gSA

Language-II: English
121.	 Option (3) is correct.

Explanation: The passage mentions 
“This quaint hill station brings solace 
and gives visitors much-deserved 
refuge from the hustle and bustle of 
cities”, it implies that the hill station 
is attractive and offers a picturesque 
view by giving solace  to the visitors 
who come in search of a shelter that is 
in the wilderness and unlike the busy 
life of a city. They are like a sanctuary  
that sets itself apart from the hectic 
city life. The correct answer is: they 
can be away from hectic city life. 

122.	 Option (2) is correct.
Explanation: If the place boasts of 
“lake's tranquil waters”, “cool air 
and breathtaking scenery, Netarhat 
Lake offers serenity to its visitors”, it 
is apparent that Netarhat is a shelter/ 
hideaway from the busy and noisy 
cities. This place is a contrast to what 
cities offer. The phrase “hustle and 
bustle of cities” implies busy and noisy 
cities. 

123.	 Option (4) is correct.
Explanation: The relationship 
established in the pair “gorgeous: 
beautiful” is that of synonym; 
similarly, tranquil means peaceful. 

124.	 Option (4) is correct.
Explanation: In para 3 of the passage, 
the Sunrise Point offers visitors a 
breathtaking view of both the sunrise 
and lush vegetation. The striking 
view of the sun emerging from valleys 
surrounded by dense greenery makes 
it a remarkable experience. 

125.	 Option (1) is correct.
Explanation: The writer states clearly 
that Netarhat is located at an altitude 
of 3696 feet, so (a) is true; while (b) 
is evinced in the first paragraph. 
Whereas, it is nowhere mentioned 
that Netarhat is an abode of verdant 
banyan forests. So, (c) is incorrect. 

126.	 Option (3) is correct.
Explanation: In the sentence, ‘Fabulous 
sunrises and stunning sunsets leave the 
visitors awestruck’, the word ‘sunrises’ 
is a noun, as it  refers to the time in the 
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morning when the sun first appears. 
While ‘awestruck’ is an adjective as it 
is used to qualify the noun ‘visitors’. 

127.	 Option (2) is correct.
Explanation: The word ‘solace’ in 
“this quaint hill station brings solace” 
implies comfort or consolation in a 
time of distress or sadness, because 
Netarhat is a shelter/ hideaway from 
the busy and noisy cities. This place 
is a contrast to what cities offer. So, it 
brings peace and comfort. 

128.	 Option (3) is correct.
Explanation: Netarhat is surrounded 
by clusters of tall pine trees, with 
“spectacular view of the sunrising”, but 
refuge camps are nowhere mentioned. 

129.	 Option (1) is correct.
Explanation: “ a pledge made in deadly 
earnest” refers to a promise made in 
complete seriousness. 

130.	 Option (4) is correct.
Explanation: in the sentence, “He 
was wild and a little dangerous, 
subject to moods and impulses”, 
here, ‘wild’ and ‘dangerous’ refer to 
adjectives. This is because they are 
used to qualify the pronoun ‘he’, who 
has been assigned the qualities of 
being ‘wild’ and ‘dangerous’. 

131.	 Option (1) is correct.
Explanation: "Instinct" refers to 
a natural, inherent impulse or 
tendency, which is closely related 
to "inclination," meaning a natural 
or instinctive preference toward 
something.  Hatred refers to a strong 
dislike, which is unrelated to instinct. 
Affinity means a natural liking, but 
it doesn't capture the automatic, 
inherent nature of instinct. 
Premonition refers to a forewarning 
or intuitive feeling about something, 
not an innate behaviour. 

132.	 Option (1) is correct.
Explanation: The relationship established 
in the pair “crowded: deserted” is that of 
antonyms; similarly "weakness" is the 
opposite of "vigour" (energy, strength). 
Lethargy suggests sluggishness but 
is not a direct opposite of vigour. 
Heaviness refers to weight, which is 
unrelated to vigour or energy. Strength 
is similar to vigour, but it's not an 
opposite. 

133.	 Option (2) is correct.
Explanation: What brought the 
three boys—Rusty, Anil and Somi—
together is their shared sense of 
adventure through their discovery of 
the pool. 

134.	 Option (3) is correct.
Explanation: The description “Water 
trickled down from the hillside, from 
amongst ferns and grasses and wild 
primroses” affirm option (2). “A small 
waterfall came down the rocks and 
formed a deep pool of apple-green 
water” corroborate option (1). The 
description of rough rocks on the bed 
is nowhere mentioned in the passage. 

135.	 Option (4) is correct.
Explanation: The statement “It was 
Somi's idea that we meet at the pool 
in ten years’ time” clarifies that the 
answer is Somi. 

136.	 Option (3) is correct.
Explanation: According to the National 
Education Policy (NEP) 2020, the 
correct statement regarding the study 
of classical languages is: Study of 
classical language as an additional 
option during the secondary stage. 
This gives the students the freedom 
to choose whether they want to study 
a classical language. 

137.	 Option (4) is correct.
Explanation: In language learning, 
Project work involves reading, 
collection of data/information, 
analysing it and writing reports in 
groups. Thus, the correct answer 
is: Forming groups, identifying the 
topic, planning, collection of data, 
interpretation of data, writing the 
draft and finalisation of the report. 
In other options , the sequence is not 
arranged properly. 

138.	 Option (4) is correct.
Explanation: Critical literacy is a 
learning approach that helps students 
analyse and evaluate texts, media and 
other forms of communication. Thus, 
understanding of power and identify 
of the people relates to Critical literacy, 
not Analytical reading , Literary skills 
or Language literacy. 

139.	 Option (2) is correct.
Explanation: It is true that Language 
contributes to the sum of human 
knowledge. Language expresses 
identity , and is a repository of 
history. The statement that is NOT 
true of language is: Some languages 
can only convey science and 
engineering better. This is because all 
languages are gifted with expressing 
complex ideas, including scientific 
and technical concepts. 

140.	 Option (4) is correct.
Explanation: Learner understands 
and applies that language works as 
a system is Systemic competence. It 
is an ability to develop and maintain 
engagement with multiple members 
of the system. Sociolinguistic 
competence is the ability to use 
language appropriately in a given 
situation, taking into account 
the social and cultural context. 
Communicative competence is the 
ability to communicate effectively 
and appropriately in a variety of 
contexts. 

141.	 Option (1) is correct.
Explanation: A diagnostic test is 
designed to identify a learner's specific 
areas of strength and weakness, 
helping to pinpoint where further 
instruction or practice is needed. 
Thus, a test which aims to identify an 
individual student's specific areas of 
weakness and strength is known as a 
diagnostic test. 

142.	 Option (4) is correct.
Explanation: According to the Indian 
Constitution, the English language is 
an associate official language of the 
Indian Constitution. 

143.	 Option (1) is correct.
Explanation: Since the hawker takes 
an active part in the classroom activity, 

he will be regarded as a participant in 
the activity. 

144.	 Option (1) is correct.
Explanation: A top-down listening 
process is a listening approach that 
focuses on looking at language as a 
whole rather than individual sounds, 
words and phrases. Top-down 
strategies focus on the 'big' picture 
and general meaning of a listening 
text. Thus, the answer is : Listening 
to overall message of the text speech 
or the audio. 

145.	 Option (1) is correct.
Explanation: Declarative knowledge 
refers to knowledge that is about 
facts and information. Application 
of knowledge refers to the process 
of using what you've learned in real-
world situations to solve problems, 
make decisions, or perform tasks. 
A language acquisition device is a 
theoretical tool. It is used to explain 
how children learn and understand 
language quickly. Procedural 
knowledge is the knowledge 
exercised in the performance of some 
task. Thus, the answer is : Declarative 
knowledge. 

146.	 Option (3) is correct.
Explanation:  A speech act is an 
utterance defined in terms of a 
speaker's intention and the effect 
it has on a listener. Idiolect is an 
individual's unique use of language, 
including speech. Dialect is a 
particular form of a language which 
is peculiar to a specific region or social 
group. Thus, the answer is : Idiolect. 

147.	 Option (2) is correct.
Explanation:  Language Acquisition 
is the natural, unconscious process 
of picking up a language, typically 
used for first languages; Language 
Learning is the conscious, structured 
effort to learn a language, often used 
for second or foreign languages. 
Thus, his English language is not 
Language Acquisition. 

148.	 Option (1) is correct.
Explanation:  Receptive skills are 
the ability to understand and receive 
language through listening and 
reading. So, listening and reading is 
correct. 

149.	 Option (1) is correct.
Explanation:  The social science 
register is often used to describe and 
analyse social structures, historical 
events and ideas related to society, 
politics and culture, which aligns 
with the content of the text. 

150.	 Option (3) is correct.
Explanation:  Instrumental motivation 
refers to a practical or pragmatic reason 
for language study such as a language 
or subject, in order to achieve a specific 
goal. Here, the goal is employment. 
Thus, the answer is : a person learns 
the language for utilitarian reason 
like employment. 
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Language-II: Hindi

121.	 fodYi (2) mfpr gSA
O;k[;kµf'k{kk rc laLÏfr dks iksf"kr djus 
okyh cu ldrh gS tc og cPpksa ds fy, cgqr 
ls dk;Zdykiksa dk vk;kstu djsaA

122.	 fodYi (1) mfpr gSA
O;k[;kµ(tu) ewy 'kCn -ra= izR;;-bd 

	 fu;e-ewy 'kCn ds igys o.kZ dk v-vk esa 
cny tkrk gSA

	 lekt ds igys o.kZ ^v dk vk* dh ek=k 
esa ifjofrZr gksus ls ^r dk rk* cu tkrk gSA 
(tu $ tka $ = $ bd = turkaf=d) 

123.	 fodYi (3) mfpr gSA
O;k[;kµfo|k $ vky;
(fo|k dk vafre o.kZ $ vky; dk izFke o.kZ 
vFkkZr v $ vk = vk)  ;g Loj laf/k ds 
miHksn nh?kZ laf/k dk mnkgj.k gSA

124.	 fodYi (1) mfpr gSA
O;k[;kµf'k{kk dk dke fo|kfFkZ;ksa dks Hk; ls 
eqfDr fnykuk gSA 

	 (x|ka'k dh iafDr)
125.	 fodYi (1) mfpr gSA

O;k[;kµfo|ky; dk ifjos'k Lor% vf/kxe 
dks c<+kok nsus okyk gksuk pkfg,A

	 fo|ky; esa f'k{kk dk okrkoj.k cPPkksa dks 
tkudkjh nsus] i<+uk-fy[kuk fl[kkus rd 
lhfer j[kus dh ctk; mUgsa Lor% lh[kus ds 
fy, c<+kok nsus okyk gksA
(x|ka'k dh iafDr)

126.	 fodYi (2) mfpr gSA
O;k[;kµlekt] f'k{kk vkSj laLÏfr ^laKk* 
'kCn gSa tcfd Lora= ,d ^fo'ks"k.k* 'kCn gSA 
tks fdlh laKk ;k loZuke 'kCn dh fo'ks"krk 
crkrk gSA tSlsµLora= HkkjrA

127.	 fodYi (4) mfpr gSA
O;k[;kµfo|ky; /keZ ls tqM+h uhfr;k¡ dks 
dk;kZfUor ugha djrk vr% ̂ fo|ky;* ds lanHkZ 
esa fodYi 4 esa fy[kk x;k dFku vuqfpr gSA

128.	 fodYi (3) mfpr gSA
O;k[;kµ,d Lora= vkSj turkaf=d lekt ds 
fy, lkekU; laLÏfr;k¡ dks iksf"kr djus okyh 
mPp Lrjh; f'k{kk cgqr vko';d gSA

129.	 fodYi (1) mfpr gSA
O;k[;kµizLrqr x|ka'k esa laLej.k fo/kk ds 
fofHkUu vk;keksa dh ppkZ dh xbZ gSA

130.	 fodYi (2) mfpr gSA
O;k[;kµ^nh?kZ* dk vFkZ gksrk gS yackA blesa 
yxk ^lq* milxZ blds vFkZ dh O;kidrk dks 
c<+kdj bldk vFkZ cgqr yack cuk nsrk gSA

131.	 fodYi (3) mfpr gSA
O;k[;kµvarjax Nfo-fo'ks"k.k-fo'ks"; laca/k] 
O;kid ;FkkFkZ-fo'ks"k.k-fo'ks"; laca/k] lqnh?kZ 
ijaijk-fo'ks"k.k-fo'ks"; laca/k dks crk jgs gSaA 
thou ;k=k esa nksuksa 'kCn laKk gSa vkSj laca/k 
rRiq#"k lekl dk mnkgj.k gSA

132.	 fodYi (1) mfpr gSA
O;k[;kµlaLej.k dsoy fganh lkfgR; dh gh 
fo/kk ugha gSA vaxzsth esa bls Memoir, laLÏr 
esa laLdj.ke ckaXyk esa Le`frpj.k] rfey esa 
fuukboxaxy] rsyqxq esa Le`rmyq] mnZw esa ;knnk'r 
dgk tkrk gSA

133.	 fodYi (2) mfpr gSA
O;k[;kµlaLej.k esa lk/kkj.k ls lk/kkj.k 
vkSj egRoiw.kZ ik=] izlax vkSj ?kVuk,¡ blfy, 
'kkfey fd, tkrs gSa] D;ksafd blesa thou esa 
vkus okys fdlh Hkh ik=] izlax vkSj ?kVukvksa 
dk fp=.k gksrk gSA

134.	 fodYi (3) mfpr gSA
O;k[;kµdqN lkfgR;dkj vius laLej.k ds 
ek/;e ls ekuoh; ljksdjksa dks Hkh vfHkO;Dr 
djrs gSaA 

135.	 fodYi (4) mfpr gSA
O;k[;kµx|ka'k ds vuqlkj tueu dh thou 
;k=k dh vrjax Nfo;ksa dks laLej.k dgk tk 
ldrk gSA

136.	 fodYi (4) mfpr gSA
O;k[;kµNEP 2020 esa f=Hkk"kk lw= ds 
varxZr ,d fodYi ds :i esa 'kkL=h; Hkk"kk 
dk v/;;u djus dh vuq'kalk dh xbZ gSA blds 
eqrkfcd 'kkL=h; vkSj fons'kh Hkk"kk dks fodYi 
ds :i esa i<+k;k tk ldrk gSA

137.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk dh d{k esa ifj;kstuk ds nkSjku 
dk;Z dh vfHkdYiuk djus vkSj mls fØ;kfUor 
djus ds fuEufyf[kr pj.k gSµlewg cukuk] 
;kstuk cukuk] vk¡dM+ksa dk laxzghdj.k] vk¡dM+ksa 
dh O;k[;k] izk:i ys[ku] VkWfid dh igpku 
vkSj fjiksVZ ys[kuA

138.	 fodYi (4) mfpr gSA
O;k[;kµ tc ,d v/;kid vius f'k{kkfFkZ;ksa 
dks ,d y?kq iBu lkexzh nsrh gS vkSj muls ik=ksa 
vkSj leqnk; dh lÙkk o igpku le>us dks dgrh 
gS] rks og Li"V :i ls mUgsa lekykspukRed :i 
ls lkspus ds fy, çksRlkfgr dj jgh gSA
lekykspukRed lk{kjrk dk vFkZ gS fdlh Hkh 
ikB] tkudkjh ;k ?kVuk dk xgjkbZ ls fo'ys"k.k 
djus dh {kerkA blesa 'kkfey gS%
ikB esa fufgr vFkksaZ dks le>ukA
ikB esa O;ä fopkjksa vkSj Hkkoukvksa dk ewY;kadu 
djukA
ikB esa fufgr iwokZxzgksa ;k /kkj.kkvksa dh igpku 
djukA
ikB ds lans'kksa dks vius thou vkSj lekt ls 
tksM+ukA

139.	 fodYi (2) mfpr gSA
O;k[;kµfoKku vkSj vfHk;kaf=dh fo"k;ksa ds 
fy, fdlh fof'k"V Hkk"kk dk iz;ksx ugha fd;k 
tkrk gS vr% fodYi 2 lgh ugha gSA

140.	 fodYi (4) mfpr gSA
O;k[;kµHkk"kk dh lok±xh ;k flLVfeV n{krk 
Hkk"kk dks O;ofLFkr vkSj oSKkfud :i ls 
lh[kus ij tksj nsrh gS ftlls Hkk"kk dk iz;ksx 
vf/kd lVhd vkSj izHkkoh gks tkrk gSA fo|kFkhZ 
ml Hkk"kk dks le>rsa vkSj O;ogkj esa ykrs gSa tks 
Hkk"kk ,d O;oLFkk ds :i esa dk;Z djrh gSA

141.	 fodYi (2) mfpr gSA
O;k[;kµfunkukRed ijh{k.k-f'k{kkFkhZ ds 
detksj i{kksa dh igpku gksrh gSA oLrqfu"B 
ijh{k.k-f'k{kkFkhZ ds detksj i{kksa dh igpku 
gksrh gSA oS/krk ijh{k.k-[kkl ;ksX;rk dk 
ijh{k.k gksrk gSA jpukRed ijh{k.k-fo|kFkhZ ds 
detksj vkSj izcy i{kksa ds fof'k"V {ks=ksa dh 
igpku dh tkrh gSA

142.	 fodYi (4) mfpr gSA
O;k[;kµHkkjrh; lafo/kku ds vuqPNsn 343 
esa fganh dks Hkkjr dh vkf/kdkfjd jktdh; 
Hkk"kk rFkk vaxzsth dks lg jktdh; Hkk"kk dk 
ntkZ izkIr gSA

143.	 fodYi (2) mfpr gSA
O;k[;kµ;gk¡ v/;kfidk Qsjhokys dks d{kk 
ds lkeus ^jh;fy;k* dh rjg izLrqr dj jgh 
gSA jh;fy;k ;k okLrfod lkexzh-vf/kxe dks 
lgt cukus ds fy, tc okLrfod oLrqvksa dh 
enn yh tkrh gS] rks mu bl fØ;kfof/k dks 
okLrfod lkexzh mixe dgrs gSaA LFky oLrqvksa 
ds lk{kkr lEidZ esa vkdj ckyd ikB dks 
vPNh rjg le>rk gS vkSj lw{e fpUru dh vksj 
vxzlj gksrk gSA

144.	 fodYi (1) mfpr gSA
O;k[;kµJo.k ds VkWi Mkmu esa izR;sd èofu] 
'kCn] okD;ka'k] miokD; vkSj okD;ksa dks lquus 
dh ctk; Hkk"kk dks lexz :i esa ns[kk tkrk 
gSA Hkk"kk ds vko';d forj.kksa dks Nk¡Vk tkuk 
vèkkseq[kh (VkWi Mkmu) Jo.k izfØ;k dh 
egRoiw.kZ j.kuhfr gSA vr% lkexzh] okd~ ;k 
vksfM;ks ds lexz lans'k dks lquuk Jo.k ds VkWi 
Mkmu mikxe esa 'kkfey gSA

145.	 fodYi (1) mfpr gSA
O;k[;kµ?kks"kk.kkRed Kku dk rkRi;Z  
vo/kkj.kkvksa] izfØ;kvksa rFkk fu;eksa dks jVdj 
lh[kuk gks ldrk gSA ;g fdlh dk;Z dks djus 
dk ladfyr Kku gS ftls izÏfr esa fLFkj ekuk 
tkrk gSA

146.	 fodYi (3) mfpr gSA
O;k[;kµcksyh cksyus ds O;fDrxr fo'ks"k 
rjhds dks Hkk"kk foKku esa O;fDrxr Hkk"kk :i 
;k vkbfM;ksysDV (Ideolect) dgk tkrk gSA ;g 
iwjh rjg ls ,d O;fDr dh viuh Hkk"kk 'kSyh 
gksrh gSA ,d gh Hkk"kk cksyus okys nks O;fDr;ksa ds 
vknfM;ksysDV esa varj gks ldrk gSA

147.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk vtZu ,d izkÏfrd izfØ;k gS 
ftlls ge vklikl ds okrkoj.k ;k vklikl 
ds yksxksa ds ek/;e ls lh[k tkrs gSaA Hkk"kk 
vf/kxe dk vFkZ gS vkSipkfjd lk/kuksa dk 
iz;ksxdj fdlh vU; Hkk"kk esa i<+uk-fy[kuk 
lh[kukA

148.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk ds pkj dkS'ky gksrs gSaµlquuk 
(Jo.k)] cksyuk (okpu)] i<+uk (iBu) rFkk 
fy[kuk (ys[ku)A xzg.k'khy dkS'ky os gksrs 
gSa ftuls O;fDr esa Hkk"kk dks le>us vkSj xzg.k 
djus dh {kerk dk fodkl djuk gksrk gSA vr% 
Jo.k rFkk iBu dkS'ky xzg.k'khy dkS'ky dh 
Js.kh esa j[ks tkrs gSaA 

149.	 fodYi (1) mfpr gSA
O;k[;kµlekt ls lacaf/kr rF;ksa vkSj fopkjksa 
dk mYys[k fd, tkus ds dkj.k ;g ikB~; lkexzh 
lkekftd foKku iz;qfDr ds varxZr vk,xhA

150.	 fodYi (3) mfpr gSA
O;k[;kµHkk"kk f'k{k.k'kkL= ;k euksfoKku esa 
baLVwªessaVy ;k ;kaf=d izsj.kk dks Hkk"kk lh[kus dk 
^lk/kukRed ǹf"Vdks.k* dgk tkrk gSA blesa O;fDr 
ds }kjk fdlh fof'k"V y{; ;k O;kogkfjd ykHk 
mBkus ds fy, tSlsµfdlh jkstxkj ;k inksUufr ikus 
ds fy, Hkk"kk lh[kh tkrh gSA


